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UGC NET PAPER 2 NOVEMBER 24, 2021 SHIFT 2 MARATHI QUESTION PAPER

Topic:- GP_24NOV_SH2_A

1) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees [Contractual Employees
DepartmentsTota[ NumbEJqua L Total Number |;itlli
F F

IT 250 1 |1 |240 z N
Accounts 123 2 |1 1130 3 |2
HR 90 3 2 30 z N
Marketing |350 5 |2 |343 5 |2
Production [304 l5 |3 [351 5 |4

mitrnT @ IERIa o i su sl Re s geai D aae & &
sl & =18 anforot & el sieowa & Ridica Roneill #d wo ol B siw=n auar ysa 3ii #aiton sepurm 2w sreo

Rrafir wefarft sifereT smenfy wetardt

Eganmw e e F=re
s & 250 |1 [ 1| 240 | 2] 1
vt 123 | 2 | 1 130 | 3] 2
i siemersr| 90 | 3 | 2 30 2] 1
RrooTer 350 | 5| 2| 343 |5 2
Fruiee 304 |5 3] 351 |5 4

Find out the average number of regular female employees in the organization,

Horaa ¥ forafie afzen oafenfay &t ofizra iz sa &3 ;

[Question ID = 1211][Question Description = $2_qSNz_PG_GP16_Q01]
1. $3.20/83.20 [Option 1D = 4841]
2. 81.25/81.25 [Option D = 4842]
3. 78.50/78.50 [Option (D = 4843]
4. 79.40/79.40 [Option D = 4844]

Carrect Answer :-
& §3.20/83.20 [Option |0 = 4841]

2) Study the given table and answer the guestions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees [Contractual Employees

DePartmentsTota[ I.'~|um|::ra»rI|::‘lEl Ho Total Number Ffi

F F
IT 250 1 |1 240 2
Accounts 123 2 (1 [130 3 2
HR 90 3 |2 [30 2
Marketing 350 [5 |2 [343 5 |2
Production [304 l5 |3 [351 5 la

aifernt o 3itaeet @ 3T 3ud ofR v s1o geal @ sar & :
oftar & o enferrr & Roalt verow o faldeor st 3 wor avslenfieil &t viwen aon gey i afdor soarm Rer swr 3
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iSrafim kst feror snendy wHart
fo mm@m o1 3cAT ikl

B gﬁﬂhﬁaﬂ Ha g
T & 250 1 1 240 2 1
D 123 2 1 130 3 2
oI FHFNEST 90 3 2 30 2 1
feraoTe 350 5 2 343 5 2
UG 304 5 3 351 5| 4

Find out the difference between regular male employees and contractual male employees in the organization.

Herod 4 foraldm gru wmafenfyl siie zifder arenfra guu wenfyal &1 sz o1 siaz sua &d 2

[Question ID = 1212][Question Description = $2_q5Nz_PG_GP16_Q02]
2/2 [Option ID = 4845]
3/3 [Option ID = 4846]
4/4 [Option ID = 4847]
5/5 [Option ID = 4848)

N TR WY

Correct Answer -
e 2/2 [Option ID = 4845]

3) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees [Contractual Employees
Departments_l_ota[ Muml::eerLI::ﬂl 20 Total Number F’IG—
F F

IT 250 1 (1 [240 2
Accounts 123 2 |11 [130 3 2
HR 90 3 |2 [30 2 N
Marketing |350 5 |2 |343 5 |2
Production [304 5 |3 [351 5 |4

IERDT T 3MERIe &1 iz JuD ofiwl 60 3w gl & vz & |
ofr &t a1 enferor 3 fosedll vistoa o fafica el & o wamiRl S dween qen ysu sz #afar aqura 2w srn

ferafinT et sifereT amenfya aatemst
et : S ) : Sl

T N ot ol et
s & 250 |1 | 1 240 | 2| 1
e 123 | 2 | 1 130 | 3| 2
ira daieer| 90 3| 2 30 2|1
Rrcorer 350 |5 | 2| 343 |5 2
SeuNoT 304 | 5| 3 351 5| 4

What is the respective ratio of the total number of female employees in the marketing department to the total number of
female employees in the production department?

favre fismer d sifgen okl &1 oo s aen sracda et 3 afgon izl & oo s & dfa o g & ?

[Question ID = 1213][Question Description = $2_qgS5Nz_PG_GP16_Q03]
1. 12/13/12/13 [Option ID = 4849]

2. 11/13/711/13 [Option 1D = 4850]

3. 12117712417 [Option 1D = 4B51]

4. 11/15/11/15 [Option ID = 4852]

Correct Answer :-

e 12/13/12/13 [Option ID = 4849]

4) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.
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Regular Employees |Contractual Employees

l::I‘Ehlj‘artmﬂnanc::t.a\[ NumbEJIE:tm Total Number |;—atlli
F F
IT 250 1 |1 |240 2 |1
Accounts 123 2 |1 130 3 |2
HR 90 3 |2 30 z2 |
Marketing (350 [5 |2 |343 5 2
Production [304 5 |3 [351 5 la

e @ 3ieaeet @ 3T 3ud of v sto geal @ saz E :
aftar & o enferr & Rralt verow o fAafieor st 3 wor avslenfi=il &t viwen aon gey i afdar soparm Rer swr 3

Rrafdr wetar®t sifceT smenfat waart
s mm@m o1 3cAT il

. qsu [#ide] qou @iz
3 & 250 1 1 240 2 1
T 123 2 1 130 3 2
o FHFEGT 90 3 2 30 2 1
feraoTer 350 2 2 343 2 2
FrUIGoT 304 5 3 351 5| 4

Find out the difference between the number of contractual male employees and the number of contractual female
employees in the organization.

Foroot # ¥l smenfya gea wakniRi & Fwar aen Afer snendya wfden walfyal & A @ @k sine sa w3

[Question ID = 1214][Question Description = $2_qSNz_PG_GP16_Q04]
1. 298/298 [Option ID = 4853]
2. 295/295 [Option ID = 4854]
3, 302/302 [Option ID = 4855]
4, 307/307 [Option ID = 4856]

Correct Answer :-
a 298/298 [Option |D = 4853]

5) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees [Contractual Employees
l::I‘Ehlj‘artmEﬂt:;Tnc::t.a\[ NumbEJIE:tm Total Number |M—|7Ratm
F F

IT 250 1 |1 |240 z N
Accounts 123 2 |1 1130 3 |2
HR 90 3 2 30 z N
Marketing (350 5 2 [343 5 2
Production [304 l5 |3 [351 5 |a

mMirnT @1 HERIE o i su s Re s geai S aae & &
sl & =1 anforor & el Jisow < Rifdica Roneil 3 wo wamiRl B siw=n auar ysa 3iie #aidon sequrm @ seo

Rrafi wearf siferer smenfy wetard
Rrarer . 3IofaIcT : Sefard

@t Hear o 2 e
airs & 250 | 1 | 1 240 | 2| 1
reT 123 | 2 | 1 130 | 3] 2
omoi diemesr| 90 | 3 | 2 30 2| 1
RraoTer 350 | 5| 2| 343 |5 2
Sl 304 | 5| 3] 351 |5/ 4

Which department has the highest number of female employees?
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fepar fepmer & wfzen owtenfyal &t mafitrs sisn 2 7

[Question ID = 1215][Question Description = $2_qSNz_PG_GP16_Q05]
1. |T/af & [Option ID = 4857]

2. Production/3rawer [Option 1D = 4858]
3. Accounts/zr=n [Option 1D = 4859]

4. Marketing/fimee [Option |0 = 4860]

Correct Answer :-
s |T/anE & [Option ID = 4857]

Topic:- GP_24NOV_SHZ_B

1) Which of the following is the highest level of teaching?

foraifertia 3 3t @iel 311 ITaas Taz o g & 7

[Question ID = 1216][Question Description = $2_qSNz_PG_GP16_Q06]
1. Memoryfzaf@ [Option 1D = 4861]

2. Understanding /@ [Option ID = 4862]

3. Reflective/faasff [Option ID = 4863]

4, Thinking/fime [Option ID = 4864]

Carrect Answer :-
& Memory/zaiec [Option 1D = 4861]

2) Which of the following are the characteristics of an adolescent?
A. Increasing independence from adult control

B. Rapid physiological changes

C. Emotionally matured

D. Acts rationally

E. Increased focus on activities with peer groups

Choose the correct answer from the options given below:

fapoial &t forafafaa 3 31 oiar = Rrdgeare 3 7

A. werrwt ait e 3 awcdt Fadgm

B. g wonfdrenfores afyadar

C. siraenws w9 A afvaag

D. mfdes eftcasior & R waan

E. wawsr agsl @ me sl av afPre sme Sonr

il R 1w Rroseal 3 3 78w o awer S :

[Question ID = 1217][Question Description = 52_qSNz_PG_GP16_Q07]

1. A and B only/@em A &fiz B [Option 1D = 4865]

2. A, Band C only/gam A, B 3fis C [Option ID = 4866]
3. A, B and D only/daa A, B 3fiz D [Option D = 4867
4. A, B and E only/dsaa A, B aiiz E [Option 1D = 4868]

Correct Answer :-
& Aand B only/@aa A sz B [Option 1D = 48685]

3) Which of the following are the most influential factors of learning?
A. Government policy

B. Motivation

C. Aptitude

D. Interest

E. Physical facilities

Choose the correct answer from the options given below:

forratciRaa A | ia 3 e o Ta3 gyl o § 7



www.prepp.in . repp

Your Personal Exams Guide
A. wrverd oifer
B. afsrzon
C. afhigrarar
D. afirsta
E. siiffrs gitrems
ol f8u a1 fRrpeul 3 A w18l Se @l w=m ifans
[Question ID = 1218][Question Description = 52_qSNz_PG_GP16_Q08]

1. A, Band C only/gmm A, B 3fiz C [Option [D = 4869]
2. B, Cand Donly/gam B, C 3iiz D [Option 1D = 4870]
3. C,Dand E only/ssam C, D &fis E [Option ID = 4871]
4. A, B and E only/@aa A, B dfic E [Option ID = 4872]

Carrect Answer :-
# A B and C onlyfa@am A, B sfiz C [Option 1D = 4869]

4) Match List 1 with List 1l

List | List Il

Institutions Offering Courses Through SWAYAM |Level of Education

A. NCERT I. Post school education

B. IGNOU Il. Undergraduate education
C. CEC lll. Postgraduate education
D. UGC V. School Education

Choose the correct answer from the options given below:

I -1 B gt -1l A Ao B

it - et -l

(i & s A uigRIa Halm vl ardl dvend ) (Rrzmr @1 7a)

A, wot 2t £ ame & |I.mg{-mf§mr
B. s9q1 |Il.ammiéraﬂ
C.3 M 11, Tomamrs figm
D. g it |IV. et foren

oftdr v oo Rroseal & A =8 saw gfee ¢
[Question ID = 1219][Question Description = $2_qSNz_PG_GP16_Q09]

A-IV,B-1,C-Ill,D- 1l [Option ID = 4873]
A-IV,B-lIl, C-1,D -l [Option ID = 4874]
A-IV,B-1,C-I,D- Il [Option ID = 4875]
A-IV,B-II,C-lll, D- | [Option ID = 4876]

b b

Correct Answer :-
o A-IV,B-1,C-1I,0D-Il[Option ID = 4873]

5) In a learner-centric approach, a teacher should:

sifferrdal - SRa sasm & Riews ot -

[Question ID = 1220][Question Description = $2_qSNz_PG_GP16_Q10]

clarify concepts by citing examples/ s gap o3 sRuRumE 3w wren wmize [Option (D = 4877]

facilitate student learning/ory © sffeE ot smena wemen mize [Option ID = 4878]

explain concepts by using adequate support materials/ oy FEres AEll o IER TP smaonsi 5t = Bl aiar [Option 1D = 4879]

R

6) Independent verification of a research effort is known as

Ro=ft ofter grIm @1 Fadg JcITE IR oIl & 7

[Question ID = 1221][Question Description = $2_qSNz_PG_GP16_Q11]
1. Enguiry/wemt [Option 1D = 4881]

2. Probe/=mam [Option ID = 4882]

3. Replication/gamf [Option ID = 4883]

4, |nvestigation/swamm [Option 1D = 4884)

Correct Answer ;-
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# Enquiry/geer [Option ID = 4881]

7) Which of the following are characteristics of quantitative research?
A. Questions are open-ended

B. lIdentified variables are measured

C. Questions are standardized

D. If the sample size is large, the findings can be easily generalised

E. It is difficult to fix the level of measurement

Choose the correct answer from the options given below:

forsafert¥ne 3 31 wior 3 mareats ofter &Y Rrdram & 7

A. gest g 81 §

B. sfifsiertya a3t w1 v Re=m s 3

C. J'aT AebREe gl &

D. afe giieet @1 sarpr ast 8, d orerdl @1 sns A apns=eor R so axean 3
E. AMgal 17 TR W3al Wiod ok &

i) f8u a1e Rrpeul 9 A w16l S0e @l o=s ifans :

[Question ID = 1222][Question Description = 52_qSNz_PG_GP16_Q12]

A, Band C only/omm A, B 3fiz C [Option [D = 4885]
B, C and D only/zwm B, C 3fiz D [Option ID = 4886]
C, D and E only/dam C, D & E [Option ID = 4887]
A, C and E only/dam A, C 3 E [Option |D = 4888)

R

Carrect Answer :-
® A BandC only/dam A, B dfiz C [Option ID = 4885]

8) Given below are two statements
Statement I: Researchers in history are myth makers.
Statement Il: Various movements in social history- new history - have provided new narratives for history researchers.

In light of the above statements, choose the most appropriate answer from the options given below

oIl 5 werel [Rw #1w 3 ¢

wad - | 1 sRer onerpal Brere - Bmlar & &

wad - || : wenhne sher - oo e 3 Riffioo sicicel of sier elerpalali & e av sisaa sudst o 8
FRITD UGl D FIKD #, ikl 6w °1e RKicoodl d A 131 e @1 @~ Sl

[Question ID = 1223][Question Description = $2_q5Nz_PG_GP16_Q13]

Both Staterment | and Statement [ are correct/wem | Az || Si=t =8t & [Option ID = 4889)

Both Statement | and Statement [ are incorrect/wem | A || Sist arewr & [Option D = 4890]

Statement | is correct but Statement Il is incorrect/wemr | 1t &, feg wem |l srmr & [Option ID = 4891]
Statement | is incorrect but Statement [l is correct/wem | oo &, feeg e || =8t £ [Option 1D = 4892]

bt B

Correct Answer :-
@ Both Statement | and Statement [l are correct /e | 3z || Sl =2t € [Option 1D = 4889

9) According to Wimmer and Dominick, the sequential steps in content analysis are:
A. Defining the population

B. Selection of appropriate sample

C. Identifying the unit of analysis and construction of categories

D. Code, analyse and draw inferences from the collected data

E. Formulation of the research question or hypothesis by the researcher

Choose the correct answer from the options given below

faerz 3fiz S & agee faaerasg farvcvaur o ocfoliaa aevil o ad oa 3 751
A, wafte o1 afrsnite oz
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B. 3fta ofdeel @1 e avsan
C. Rrdqgor &t oo 3iiv gfordl &t vivaen &t asaer oo
D. seliga D3l @l Trag Wil [rauvl wen 30t s forpicen
E. olterpal grr onler ussl = ulroasinaii w1 o wion
i) f8u a1e Rrpoal 3 A w16l Sne @l w=s ifens :
[Question ID = 1224][Question Description = 52_qSNz_PG_GP16_Q14]

1. A, B, C, D, E [Option ID = 4893]
2. B, C, D, E, A[Option ID = 4894]
3. C, D, E, A, B [Option D = 4895]
4. E, A, B, C, D [Option ID = 48%6]

Carrect Answer :-
s A B, C, D, E[Option D = 4893]

10) Match List | with List I

List | IList 1

Ethical concepts IScurce

A. Categorical imperatives |I. Aristotle

B. Utilitarianism |II. John Rawl

C. Golden mean |III. Immanuel Kant
D. Theory of justice |IV. John Stuart Mill|

Choose the correct answer from the options given below:

it -1 B 3 -1l 3 AR iR

ot -l et -1
(siféres arrenzomTg) |(=e)

A. forzlier amdar |I. AT,

B. swRiRBIIEaE 1. siior e

C. vavf amer ., sdggarer wic
D. wart w1 Rigin IV, sifer sgar€ B

oitdr e oo Rroseal & A1 5t sae gfee ¢
[Question ID = 1225][Question Description = $2_qSNz_PG_GP16_Q15]

1. A-1L,B-Il,C-Ill, D- IV [Option ID = 4897]
2. A-I1L,B-1I, C- 1Y, D- I [Option ID = 4898]
3. A-UL,B-1¥,C-1,D- Il [Option ID = 4899]
4, A-IV,B-1, C-Il, D- 1l [Option ID = 4900]
Correct Answer :-

o A-1,B-Il,C-1ll, D- IV [Option ID = 4897]

11) In the transactional type of communication, the elements are:

HAcaelts AT #, ara DA erT 8 ?
[Question ID = 1226][Question Description = $2_q5Nz_PG_GP16_Q16]

1. Independent/=wig [Option ID = 4901]

2. Inter-dependent/uzzaz fniz [Option ID = 4902]
3. Meutral/re=a [Option 1D = 4303]

4, |nactive/fftaz [Option 1D = 4504)]

Correct Answer :-

& |ndependent/=rry [Option 1D = 4901]

12) Which of the following influence non-verbal communication?
A. Avoidance of signals

B. Invisible incongruence

C. Culture

D. Geographical location

E. Contextuality

Choose the correct answer from the options given below:
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fomgmfertian 3f 31 o arenfecm HYWVT DI Yyfar waar & ?
A, FiddY o ufisz
B. arzeu farzimia
C. sivepfa
D. siehferes smafrefa
E. michifear
ol 2w s1¢ feraseal 3 3 I3l InT &1 wRIal Hifae
[Question ID = 1227][Question Description = $2_qSNz_PG_GP16_Q17]

A, B and C only /e A, B 3z C [Option ID = 4905]
B, C and D only/dae B, C 3z D [Option ID = 4906]
C, D and E only/=%@= C, D &m E [Option ID = 4907]
A, D and E only/=%@= A, D iz E [Option (D = 4908]

o R

Correct Answer :-
o A, Band C only/@am A, B sfiz C [Option D = 4905]

13) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Communication must include the transfer and understanding of messages and their meanings.
Reason R: Achieving perfect communication is a technical possibility.

In light of the above statements, choose the correct answer from the options given below

il <) oewl Ru s & : wes afirsera (Assertion A) @ wu 3 3iiz g3 35 @rer (Reason R) & »a &
afdreserer (A) ; FOuoT 3 FHSoI 3z Jord arelf @1 sievzor 3tz Qrer araea Afiafer Son aifaw

@rzor (R) : ufigel W @1 d87 YA ©ell U® bolldt HHIRKR &

I wuell aF sralr 3, of Ry Bravedal # 3 wdt saz o1 awuer Hifsie -

[Question ID = 1228][Question Description = $2_qSNz_PG_GP16_Q18]

Both A and R are true and R is the correct explanation of A/ (A} 3fiz (R) St it € 3tz (R), (A) ot 2t =mz=n & [Option 1D = 4909]

Both A and R are true but R is NOT the correct explanation of Af(A) itz (R) Sell 7t & uewg (R}, (A) &t 718 sareen widt 2 [Option 1D = 4910]
A is true but R is false/ (A} 76t & womgg (R) =t =t & [Option ID = 4911]

A is false but R is true/(A) =2t st 8 weegg (R) =€t € [Option 1D = 4912]

oW R

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/ (4) sz (R) it =6 £ sfiz (R), (A) o5t =&t =me=m 2 [Option 1D = 4909]

14) According to Robbins et al, the sequence of communication functions is :
A, Control

B. Motivation

C. Emotional expression

D. Information

Choose the correct answer from the options given below

jifeew wd afea @ Al FAYWYT Gl B TE o T § 7

A, Rriqer

B. afirzon

C. sraras sficaks

D. Sorsrdt

sl 2w s1¢ faaseal 3 2 3l 30z o1 oRIal Hifaw

[Question ID = 1229][Question Description = $2_qSNz_PG_GP16_Q19]

B, C, D, A [Option ID = 4913]
D, A, C, B [Option ID = 4914]
C, D, B, A [Option ID = 4915]
A, B, C, D [Option ID = 4916]

bl D

Correct Answer :-
e B, C,D, A[Option ID = 4%13)



www.prepp.in . repp

Your Personal Exams Guide
15) Which of the following are the traits of a competent communicator?
A. Mindfulness
B. Receptive to new information
C. Thinking before acting
D. Should always go by the first impression
E. Be passive to issues around

Choose the correct answer from the options given below:

forzaifertiae 3f 2t @iat 31 FawH FHWoT O cigron 3 ?

A, I

B. o snorasdt &t sguefierr

C. @ fagan @¥or 3 Uad Iud an & Aeen

D. gy gana ol $av6l d Faaes A8 dgall

E. are - urzt & #gE1 & gfa faftaga saon

olfer 6w s1e fampeal 3 3 71él Iz &1 aas Hifag ¢

[Question ID = 1230][Question Description = $2_qSNz_PG_GP16_Q20]

1. A, B and C only/dxze A, B 3z C [Option D = 4917]
2. B, Cand D only/dxze B, € 3z D [Option ID = 4918]
3. C, D and E only/dxze €, D 3z E [Option ID = 4919]
4. A, Dand E only/@we A, D afiz E [Option 1D = 4920]

Correct Answer :-
o A, Band C only/@am A, B sfiz C [Option D = 4917

16) What comes next in this sequence?

1,2, 2,4, 8, 32,7

i 2w a1% aiermH 3 aercdl Fien Sia 3 2l ?
1,2, 2, 4,8, 32,7
[Question ID = 1231][Question Description = S2_qSNz_PG_GP16_Q21]

1. 84/84 [Option ID = 4921]
2. 64/64 [Option ID = 4922]

3. 1287128 [Option ID = 4923]

4. 256/256 [Option ID = 4924]

Correct Answer :-
e 84/84 [Option ID = 4921]

17) If seven persons can build a house in 30 days, how long will it take three persons to build the same house, provided
that they all work at the same rate?

#fe A i Reft woere o 30 o1 d aon o 8, sl kbl @ 33 awm @t dorrel # Roae o o@is), qurd &5 4 it 30w &= 3 ot
SHIE ?

[Question ID = 1232][Question Description = S2_qSNz_PG_GP16_Q22]

1. 100 days/100 = [Option ID = 4925]

2. 70 days/70 fer [Option 1D = 4926]

3. 30 days/30 &= [Option ID = 4927]
4, 210 days/210 &= [Option ID = 4928]

Correct Answer :-
e 100 days/100 &= [Option ID = 4925]

18) If the difference between compound interest and simple interest on some principal amount at 20% for 3 years is Rs 64,
then the principal amount is -

afe Roeft sererer vz 20% &6t o3 3 3 od @ Rm arpgly warer sfiv st w2 @t 3w 64 =!8, A a8 Jeee SR O
[Question ID = 1233][Question Description = 52_qSNz_PG_GP16_0Q23]
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Rs 495/% 495 [Option D = 4929]
Rs 550/ 550 [Option [D = 4930]
Rs 375/% 375 [Option ID = 4931]
Rs 500/% 500 [Option 1D = 4932]

oW

Correct Answer :-
e Rs 495/% 495 [Option ID = 4929]

19) Given below are two statements

Statement I: The angle between the minute hand and the hour hand of a clock when the clock shows 3 hours 20 minutes is
25°

Statement |l: Between 4 and 5, the minute hand and hour hand of a clock will be coincident at 213 minutes past 4.

In light of the above statements, choose the correct answer from the options given below

ofidl <t werer Ru s & |
werd - | @ afe ast 3 aam: 20 Reie o1 s goildl 2 i sardt @i &b g iz fieic &t g & dla 25° o1 olvl gem 2

et - 1l @ 4 3z 5 @ 4k 4 worse 213%@&@@&%@&%&%@&%%31&&%
11

IURE el @ el #, oflY & a1e fameeul # 3 7t 30z @1 oo &ifem
[Question ID = 1234][Question Description = $2_q5Nz_PG_GP16_Q24]

1. Both 5tatement | and Statement |l are true/oem | J2 || 8@t @ & [Option D = 4933]

2. Both 5Statement | and Statement |l are false/wem | 37 || 3w e & [Option |D = 4934]

3. Statement | is true but Statement Il is false/weer | 3 2 |, foeg wem (s 2 [Option 1D = 4935]
4, Statement | is false but Statement Il is true/@em | a1 7w &, Roog em || s & [Option 1D = 4936]

Correct Answer :-
e Both Statement | and Statement 1l are true/wem | #iz || S=if I= £ [Option D = 4933]

20) Which of the following statements are correct?

A. If the cost price of an item is Rs.56 and the gain percentage is 20%, the selling price of the item is Rs.76.2.
B. If the cost price of an item is Rs.80 and the loss percentage is 15%, the selling price of the item is Rs.68.

C. If an item purchased in Rs.5 is sold for Rs.6, the profit is 25%

Choose the correct answer from the options given below

forrafertian werel uz fans Hifsm ;

A, af? feoedt ag o o Fea 56 uA B sl 33 uz 20% o B 8, Al 3w g o Ao #gea 76.2 U 8
B. afe fop=ft avg &1 @@ e 80 Hu 2 afiz 331 dael uz 15% aifer 2kt 3, &t 31 awg o faa 3 68 a3
C. afe ool azg @1 5 s 3 mioos 6 Fod F dur sar B & 3w oz 25% o B 3

saf A A oo m / A vua Aast 8/ 37

[Question ID = 1235][Question Description = $2_qSNz_PG_GP16_Q25]

1. Conly/daea C [Option [D = 4937]
2. Bonly/@ae B [Option ID = 4938]
3. Band C only/@ae B &tz C [Option ID = 4939]
4. A and B only/aaa A dfiz B [Opticn 1D = 4940]

Correct Answer :-
o C only/awa C [Option D = 4937]

21) Match List | with List I

List | IList 1
A. Vyapti |I. An immediate valid cognition of reality due to some Kind of sense-object contact
B. Anumana |II. A source of knowledge on the basis of the likeness of things

C. Pratyakshallll. Knowledge of an object due to previous knowledge of some sign or mark
D. Upamana |IV. The universal relation between the middle and major term of inference
Choose the correct answer from the options given below:

TRt -1 @ et -1l A ARE Hif
et -l R -l
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A : | Rt geors @ sidcenel afoerasd @ weor wemnel w1 arwrr Ser
- +

B [ll, <hisii 6 Tz &5 ATens a3 Siel o IJIa

3o HIol

C. graat |l Rl idva o Ris @ qd star @ anenv o3 feeh avg o o6

D. sasa |Iv.wéaguﬁaﬁimauﬁﬁﬂamﬁﬂﬁmm
a1 o oo Repedl & 3 318l 302 giome :

[Question ID = 1236][Question Description = 52_qSNz_PG_GP16_Q26]

1, A-1,B- 1V, C-1ll,D- 1l [Option ID = 4941)
2. A-1,B-1l,C-1,D- IV [Option ID = 4942]
3. A-Il,B-1I,C-1,D- IV [Option ID = 4043]
4, A-I¥,B-1ll, C-1,D -l [Option ID = 4944]

Carrect Answer :-
o A-|,B-I¥,C-Ill, D- Il [Option 1D = 4941]

22) Match List | with List 1]

List | List Il
A, Sannidhil, Mutual fitness and compatibility of the constituent words in a sentence

B. Tatparyall. Expectancy between the words different in a sentences
C. Yogyata |lll, Propinquity between the different words in a sentence
D. Akanks3|lV. Meaning intended by the sentence

Choose the correct answer from the options given below:

A -1 ot e -1l 3 pafera SHifer

et -l i -l

A. afcatts || amaw 3 Fiacee sl &l ulRuli® FugTEal Az dAeRIar
B. aread |Il.mzrﬁ9r@fﬁ$mﬁqﬁn9n

C. I |Ill.mﬂi%{fi|aa9m€f$aﬁﬁxmﬂm

D. arwign ||V, arr g afia aref
i RRu s1e faeseal 3 31 7él 3= gfome .

[Question ID = 1237][Question Description = $2_q5Nz_PG_GP16_Q27]

1. A-1l, B-1,C-1ll, D -V [Option ID = 4945]
2. A-IV,B-1I,C-1ll, D- I [Option ID = 4946]
3. A-1,B-1,C-1V,D- Il [Option ID = 4947]
4. A-NI,B-1V, C-1,D- Il [Option ID = 4948]

Correct Answer :-
o A-I,B-1,C-Ill, D- IV [Option ID = 4945]

23) Mame the fallacy committed in the argument.
"All household pets are domestic animals.

No unicorns are domestic animals.

Therefore, some unicorns are not household pets.”

Choose the correct answer from the options given below

oifr e 31¢ aas 3 Tl Ao S 3 7

il T3 SAerE OIeiq Sloiz 8

¢ gforpiel urorg snorae wist §

st o ginsisl wi et sl §

[Question ID = 1238][Question Description = $2_qSNz_PG_GP16_Q28]

Undistributed Middle /s &7 [Option ID = 4949]

Affirmative conclusion from Negative Premises/a@Rnsms JriF 9 31 s Bwed [Option (D = 4950]
Exclusive fallacy/smaste o g [Option 1D = 4951]

Existential fallacy/aRBamauss o S [Option D = 4952]

T e

Correct Answer :-
e Undistributed Middle/amms &7 [Option ID = 4949]

24) Consider 'A’ proposition as 'True’ and 'False' respectively, in a square of the opposition of propositions, then which one
of the following is correct?
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s aral @ Riodla oof 3 A’ aab arr @1 e HE ofi s aml fereetieiRaa A A @ior A1 bl @ 3 7

[Question ID = 1239][Question Description = 52_qSNz_PG_GP16_0Q29]
1. "0 is True and T is False/'0' gt g sz "' sewr & [Option ID = 4953]

2. 'Eis Undetermined and ‘0" is False/'E’ aforertiy £ afiz '0' s € [Option 1D = 4954]
3. 'O is Undetermined and "' is False/'0" aforiitst & afiz ' = 2 [Option 1D = 4955]

4. 1is True and 'E' is False/I' &t 23z 'E' swm & [Option ID = 4956]

Correct Answer ;-
o 'OisTrue and T is False/'O' ==t 4z T eewr £ [Option 1D = 4953]

25) In which of the following forms of knowledge there cannot be any predication of the object in terms of the subject-
predicate relation?

forraifertian 3f 2t fopmr SreT greu @ 3299 - fadRr Fide & zfte 3 avg @ o1 fafe ol &t aear & 7

[Question ID = 1240][Question Description = $2_qSNz_PG_GP16_Q30]

Nirvikalpaka Pratyaksha/feifmens et [Option 1D = 4957
Savikalpaka Pratyaksha/afrrewe yrgr [Option 1D = 4958]
Samanylaksana/Ameem [Option ID = 4959]
Yogaja/=ierm [Option 1D = 4960]

bl D

Correct Answer ;-
# HNirvikalpaka Pratyaksha/Biremr gemer [Option 1D = 4957]

26) A spreadsheet is

Fisofic & -

[Question ID = 1241][Question Description = $2_qSNz_PG_GP16_Q31]
One-dimensional table or grid/ues - Fefta arcres ar B [Option 1D = 4961]
Two-dimensicnal table or grid /g - Fele mferet 7w B [Option 1D = 4962]
Three-dimensional table or grid /&y - fofts afems @ B [Option 1D = 4963]
Four-dimensional table or grid/<xjz - Bl micrer @0 B [Option 1D = 4964]

-

Correct Answer :-
® One-dimensional table or grid/ue - Fele mfewe =@ B [Option 1D = 4961]

27) In electronic banking, ATM stands for
Folci ol dltbol o e 3 § & B O G ofld &1 & 7

[Question ID = 1242][Question Description = $2_q5Nz_PG_GP16_Q32]
1. Automated Transfer Money/#i@@es ciaws A=

[Option ID = 4965]
2. Automated Teller Machine/slicies 2oz mler

[Option ID = 4966]
3. Automatic Transfer Machine /dichiR® css aoia

[Option ID = 4967]
4, Automatic Transfer Mode /AR goge s

[Option ID = 4968]

& Automated Transfer Money/diEWes ciares Aot
[Option ID = 4565]

28) Which of the following is a disadvantage of laptop computers in comparison to desktop computers?

3T CId TSI &l gorell # Aucia wegee ol raikifiaa #d 31 oia At oo oMt & ?

[Question ID = 1243][Question Description = $2_qSNz_PG_GP16_Q33]
1. It has no trailing wires/sxi o A faeer =t T2 & [Option D = 4969]
2. It has lower power consumption/sxd sl & moa a2t 2 [Option ID = 4970]
3. It is lightweight and self-contained/ e oot @ 21 & 3l =5 7aa: idm & [Option D = 4971]
4. It is easier to break or steal/s3 dgen = gEn aRner &ar & [Option (1D = 4972]

Correct Answer ;-
® |t has no trailing wires/s ©F = Fmrc & 7za € [Option D = 4969]
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29) Which of the following statements are correct?

A. Laser printers use dry ink

B. Unlike dot matrix and inkjet printers, laser printers do not use ink when producing a document
C. Laser printers use the property of static electricity

D. Laser printers produce ozone gas and tiny toner particulates in the air

Choose the correct answer from the options given below

foraifertiaa weEll @ smenz uz faanr Hifsmw ;

A, otz gl 3 9 FEl 1 JuleT foa Sk 8

B. Sic afeaw sl dovaie Ricd & faadia der Rl # grard= Az &30 TR =8 o 30 a1l fiean s 3
C. oz el 3 fore o fagm &1 fdraar/spn &1 gEeT e 2

D. o1z fifez arg & aiisilor 313 aiiz dlolr & IPEH BT 3rlool DHI 8

Ffes 3 2 ®lol 71 / A Bt AE E 7

[Question ID = 1244][Question Description = $2_q5Nz_PG_GP16_Q34]

1. A, B and D only/dxze A, B 3z D [Option D = 4973]
2. A, Cand D only/@ae A, C sfiz D [Option ID = 4974]

3. B, Cand D only/dxze B, € iz D [Option ID = 4975]

4, Aand C only/o5am A @iz C [Option 1D = 4976]

Correct Answer :-
o A, B and D only/@am A, B sfiz D [Option D = 4973]

30) Given below are two statements
Statement I: DRAM consists of a number of transistors and capacitors
Statement |I: DRAM needs to be constantly refreshed

In light of the above statements, choose the correct answer from the options given below

il 1 Tow Ru smw 3 ;

averat - | 31 3w ¢ ow A sk i siiv Ay (Dabr) afiakea 88 &
aserat - || 1 Y anw v ow ot asneny 1Y@ orasvel @ smaowsan Bl B

AT Wyl O sreia #, i Ry a1 Rovedl & A wét saz o wa G ¢

[Question ID = 1245][Question Description = $2_qSNz_PG_GP16_Q35]

1. Both 5tatement | and Statement |l are true/=em | iz |l Sl a0 & [Option D = 4977]

2. Both 5Statement | and Statement |l are false/wem | 37 || 3w e & [Option |0 = 4978]

3. Statement | is true but Statement Il is false/mee | 3ra & , foog wa= || smrg & [Option 1D = 4979]
4. Statement | is false but Statement Il is true/®ue | sera 2 , Breg @ua || s/a & [Option 1D = 4980]

Correct Answer :-
e Both Statement | and Statement 1l are true/wem | #iz || S=if I= £ [Option D = 4977]

31) According to Niti Ayog's 5DG Index (2019-20), which among the following states is the best performer in the attainment
of SDG-5 (Gender Equity)?

oitfer ameller @ wastsh IErpir (2019 - 20) o5 aaR, gastsl - 5 (AlRrr Jemer) g o # esiftiRaa A 3 R w1 @1 ygyier adoss
27

[Question ID = 1246][Question Description = $2_qSNz_PG_GP16_Q36]
1. Kerala/@5ser [Option [D = 4981]

2. Himachal Pradesh/fgsmem g [Option 1D = 4982]

3. Sikkim /fifams [Option D = 4983]
4. Goa/sitar [Option ID = 4984]

32) Protection from Ultraviolet Radiations as envisaged under the Montreal Protocol also contributes to following SDGs

Atfoczrer grcrasiar 3 & s1¢ afvwoasn @ serae audstel Riftsyer A sivem feaftfloa 3 3 Roa va 3§ Sh 3 1 wewce o 3 7
[Question ID = 1247][Question Description = $2_qSNz_PG_GP16_Q37]
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SDGS 3, 11, 14, 15/uwa ol 3, 11, 14, 15 [Option ID = 4985]
SDGs 10, 16, 17/t= < 5ft 10, 16, 17 [Option 1D = 4986]

SDGs 4, 5, 11, 17/za @ 5t 4, 5, 11, 17 [Option ID = 4987]

SDGs 8, 10, 12/w et 5it 8, 10, 12 [Option ID = 4988]

N S PO L ey

Correct Answer :-
e SDGS 3, 11, 14, 15/ it 3, 11, 14, 15 [Option ID = 4985]

33) Among all recorded species in the world, India accounts for about

fare 3 Froord B o walt ganfernd & 3 siza A oene Rvash genfeat 37

[Question ID = 1248][Question Description = S2_qSNz_PG_GP16_Q38]
1. 7-8%/7-8% [Option D = 4989]

2. 10-12%/710-12% [Option 1D = 49%0]

3. 15-18%/15-18% [Option 1D = 43%1]

4. 20-25%/20-25% [Option ID = 4992]

Correct Answer :-

o 7-8%/7-8% [Option D = 4989]

34) In respect of Biochemical Oxygen Demand {(BOD), the permissible Indian standard for discharge of treated effluents in
Inland Surface Waters is

SR Aiasdiara #ier (4t sy 31) @ Haer 3, o2 al:ama @t st aadl sa | sisa @ e ik ass a7

[Question ID = 1249][Question Description = $2_q5Nz_PG_GP16_Q39]
1. 5.0 mg/L/5.0 fep/

[Option ID = 4593)
2. 6.0 mg/L/6.0 B/ =t

[Option ID = 4994]
3. 15.0 mg/L/15.0 fep/ <.

[Option ID = 4595]
4, 30,0 mg/L/30.0 R/ =it

[Option ID = 4996]
Correct Answer :-
e 5.0 mg/L/5.0 Bep/ oft

[Option ID = 4993]

35) Which type of power plants uses the least land per unit of GWh energy production?

fepa g @ fagga s givn so1s sitenarc der (S0 socg va) Sef sruica @ i il s Y o IusleT o1 & ?

[Question ID = 1250][Question Description = $2_q5Nz_PG_GP16_Q40]
1. Wind/uza [Option ID = 4997]

2. Coal/@ren [Option ID = 4998]

3. Solar/=iz [Option ID = 4999]

4, Geothermal/spmdtr [Option 1D = 5000]

Correct Answer :-
® Wind/mwmm [Option ID = 4997]

36) Which of the following are the major recommendations of the NEP-2020 related to higher education?
A. To increase GER from 26.3% to 50% by 2035

B. Establishment of world-class universities

C. 'Light but tight' regulation by a single regulator for higher education

D. Promoting research in science and technology

E. Opening of 1500 more universities

Choose the correct answer from the options given below:

ga § ot - 2020 Ji 3 Bien @ sy # BeatfRaa 3 3 ofia =1 ggs e &7
A. siae @ 26.3% 31 agres 2035 mos 50% o
B. A - seriter Rreatfenrord @t Femaen
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€. =g bign @ e wira Rfsrmme Her 'soot f5g ool (arET ac ose)’ Rifcere
D. fyswor iz gienfSrdht A ofter @t agrar Jair

E. 1500 sfiz iraliEnor= wiaen

offal fom =1e Repedl 3 3 181 I @1 wRm i @

[Question ID = 1251][Question Description = 52_qSNz_PG_GP16_0Q41]

1. Aand B only/asm A & B [Option 1D = 5001]
2. Aand C only/@aer A diz C [Option ID = 5002]
3. Band D only/@eer B 4z D [Option ID = 5003]
4. D and E only/&aer D #fiz E [Option ID = 5004]

Carrect Answer :-
® A and B only/@aa A sfiz B [Optien 1D = 5001]

37) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Choice-based Credit System (CBCS) is adopted out of the need for flexibility in the education system so that
students, depending upon their interests and aims, can choose interdisciplinary, intra-disciplinary and skill-based courses,

Reason R: The majority of Indian higher education institutions have been following a marks or percentage-based evaluation
system, which obstructs the flexibility for the students to study the subjects/courses of their choice and their mobility to
different institutions.

In light of the above statements, choose the most appropriate answer from the options given below

of) € era 2w s & ¢ wen arfdroerar (Assertion A) @ u i sz gz suas @t (Reason R) & w=a &

atfdreserat (A) ; Rign quireht 3 exftciuer &t AieT o eamor H TEd g famed - anenfa & f5eyone! (1 & 2t vzr) @t saern 2 mfes o agell
sifdrsfra 3l S2ewl & sotan 3o - Rrawuw, srafireris iy wiora snenfya aigragAl o1 age ©F A

wrzor (R) s # aiffrosior soa frgn Hwemnd sitw wn gitrera snenfya goaime qonedl @ sroparerer e 38 3 Rradt oigl o) srael g @ gl
/ iz @ dim sadb! siivelicrn & oficdaa 3 aren et

IURE ®eEEl & ACD A, s By fawodl # 3 3 saz o1 e S
[Question ID = 1252][Question Description = $2_q5Nz_PG_GP16_Q42]

1. Both A and R are correct and R is the correct explanation of A/{A) sfiz (R) St 2 & ofiz (R), (A) &t =2 =oeen € [Option ID = 5005]

2. Both A and R are correct but R is MOT the correct explanation of A/ (4) diz (R) Sial 7 £ weeg (R), (A) Ot =&t e s € [Option 1D = 5006]
3. Ais correct but R is not correct/(A) 3t 2 momg (R) st =ff & [Option 1D = 5007]

4, Aisnot correct but R is correct/(A) =t = 3 wesry (R) =8t £ [Option 1D = 5008]

Correct Answer :-
« Both A and R are correct and R is the correct explanation of A/ (A) sliz (R) st=il 28t & sliz (R), (A) &t 38 momz=n 2 [Option ID = 5005]

38) Nalanda was established in
oltcicl ol Feuel od g3 &l ?

[Question ID = 1253][Question Description = $2_q5Nz_PG_GP16_Q43]
2nd century/ gzt grmec [Option 1D = 5009]

3rd century /et grsdt [Option 1D = 5010]

4t century/etelt ormedt [Option (D = 5011]

5t century/aert ermeet [Option 1D = 5012]

N PP S g

Correct Answer ;-
o 2" century/gast srmt [Option ID = 5009]

39) Arrange the following states in descending order in terms of GER {Gross Enrollment Ratio) in higher education.
A. Tamil Nadu

B. Kerala

C. Uttarakhand

D. Sikkim

E. Himachal Pradesh

Choose the correct answer from the options given below

o foranr 3 wova awiwer separa (5 § 3n9) Ot efte F Rroftrfan wrsai ot s ayn 3 2
A. mifderons
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B. @

C. FaarEms

D. Riikra

E. Ramme geor

i) f8u a1e Rrpoal 3 A w16l Sne @l w=s ifens :

[Question ID = 1254][Question Description = 52_qSNz_PG_GP16_0Q44]

1. A, B, D, E, C [Option ID = 5013]
2. B, A, D, C, E [Option ID = 5014]
3. B, D, E, A, C [Option ID = 5015]
4. D, A, E, C, B [Option ID = 5016]

Carrect Answer :-
s A B, D, E, C[Option D = 5013]

40) 'Deemed to be University is established by

'Ites Rraftenoa’ 6 Fearaon foad g & st 8 ?

[Question ID = 1255][Question Description = 52_qSNz_PG_GP16_0Q45]

1. An act of the Parliament/d=s @ gidfre g [Option 1D = 5017]

2. An act of the state legislative assembly/ 3/ R mar @ aiffeer g [Option 1D = 5018]

3. A notification of the Central Government on advice of the UG /g4t =t & amm w sy mvor & sftegem g [Option 1D = 5019)
4, A notification of the UGC on the advice of the State Government/ = sz &t wme w =t =t 6 afiegen grer [Option (D = 5020]

Correct Answer :-

& An act of the Parliament/zae @ aftfeeer g [Option 1D = 5017]

Topic:- GP_24NOV_5H2_C

1) Please read the passage and answer the following questions,

The concept of emotional labour emerged from studies of service jobs. But emotional labour is relevant to almost every job.
At the least, your managers expect you to be courteous, not hostile in your interactions with co-workers. The true
challenge arises when employees have to project one emotion while feeling another. This disparity is emotional dissonance,
and it can take a heavy toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emoticnal
exhaustion and burn out. Emotional dissonance is like cognitive dissonance, except that emotional dissenance concerns
feelings rather than thinking, It is from the increasing importance of emotional labour as a key component of effective job
performance that we have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work that you just plain do not
like. Maybe you consider their personality abrasive. Maybe you know they have said negative things about you behind your
back. Regardless, your job requires you to interact with these people on a regular basis. So you are forced to

feign friendliness. It can help you, on the job, especially if you separate emotions into felt or displayed emotions. Felt
emotions are an individual's actual emotions. In contrast, displayed emotions are those that the organisation requires workers
to show and considers appropriate in a given job. They are not innate; they are learned. Similarly, most of us know we are
expected to act sad at funerals, regardless of whether we consider the person's death a loss and to appear happy at
weddings even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we should
typically express positive emotions like happiness and excitement and suppress negative emotions like fear; anger; disgust
and contempt,

fBrrmterf3ae stexior @) taegde ag iz gual @ sav S

HIARHS 9 Bt arxenzorr Aar S D AsrETE @ yeweer A ol Rreg sracAT 9 eEpET Qe AseR & fore gruafics 3§ smaot geercs
1T 3 B A A AL AULT THWI & Kb ama suel el & A B waer ®8 it Riguynt asr o o a=dl gelidl aa scuso gidl € s
wafenfra @t fopeft siaen o1 gehfa owon usa & 9afs O S1E gadl saon #EgA o 1 A0 2 A faseilr waenenes farisif weardt 2 iz ae
TR B T sifororee 8t ol 3 wor, @ler 3z 3w &t ava smen A I HIGEIRD ¢RETA ikl § 3 salip MR FU A o 5IRTT 3
Widelcas i sismenas st & e 2, Bram sod o6 snaenrass fsisiia Rivor &5 oo siraeid 3t A4t 2l 8 qurdt Rt
fBroarger 45 o guE G @ $a A HRIGICHT o # smaensil B grefar o1 Fwwr s § sreioacs o walaifyel @ R gRer sraser
I &  AMIh] B il @5 ATel B HIdl USdl 2 oled 3nu [eerpa ueic oél ol & 2l 3<hel 8, MU Jokb oftbrd o uadd] dAerd 81 &l
A 2 6 ama A s 8 796 3ogier aud dio i anuds an 3 R ard oAl & T9d amagg, AUl Asenz &t IR ] so el &
A1 forfd stz uz sl @eelt ast & swftie amusst Frjitvr @1 wmar o usar @ fidmrns, Aie ama wraosi @l sy Sesiai an
g sraotrsil 3 srcreT-a1creT e W dl FHI AUDY el Ao H Aerr fiel il 2 sepm sk safo 6 aralds sraend kil F
sad Rrafa, golbia sraand § 8kt 3 Bred o1 doroa el wrd Ridg o fore welafe srer gl Rew soar 6 srdan ysran & 3iie 363 s
#All & 4 AafiRa waed «dl 2l & 5 A il o1 s 2cdl 2 330 g1z s 3 A altrntor et sera E 5 s Rl sals © sifta
v # gw goidia wwet & aden &t sl 3, 3@ & 50 va safe 6 gog O oo st et ar o1 sk asn end-Anrs 3 gacea R 6
e @t Swdt 8, wcl 8 & Yookl eI W AT of e 9ilel g gorla & B wrl Fae uv ug siian @t siwedt & R 53 s gRieoin 3w
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The basic principle of emotional labour management is:

HIAGIITHS 9 gaerst o1 gfornd Rigia 3 :

[Question ID = 1256][Question Description = $2_qSNz_PG_GP16_Q46]

1. Be less hostile to other emplovees/ s aetmiisl & gift e Riga zzmm [Option 1D = 5021)

2. Entertain only limited interaction within the organization/ssmom oF slierz W lifwT sirefizn ween [Option (D = 5022]
3. Be polite to co-workers/ =ikl o oft femy 2z0n [Option 1D = 5023]
4. Do not show your frustrations/ aigsll ol @1 gglefa @ own [Option 1D = 5024)

Correct Answer :-

# Be less hostile to other employees/ s sefenfs=l & gy o3 fidw ==yan [Option 1D = 5021]

2) Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But emotional labour is relevant to almost every job.
At the least, your managers expect you to be courteous, not hostile in your interactions with co-workers. The true
challenge arises when employees have to project one emotion while feeling another. This disparity is emotional dissonance,
and it can take a heavy toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emotional
exhaustion and burn out. Emotional dissonance is like cognitive dissonance, except that emotional dissenance concerns
feelings rather than thinking, It is from the increasing importance of emotional labour as a key component of effective job
performance that we have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work that you just plain do not
like. Maybe you consider their personality abrasive. Maybe you know they have said negative things about you behind your
back. Regardless, your job requires you to interact with these people on a regular basis. So you are forced to

feign friendliness. It can help you, on the job, especially if you separate emotions into felt or displayed emotions. Felt
emotions are an individual's actual emotions. In contrast, displayed emotions are those that the organisation requires workers
to show and considers appropriate in a given job. They are not innate; they are learned. Similarly, most of us know we are
expected to act sad at funerals, regardless of whether we consider the person's death a loss and to appear happy at
weddings even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we should
typically express positive emotions like happiness and excitement and suppress negative emotions like fear; anger; disgust
and contempt,

forraferi¥aa staxior @ tanargdes @ 3 geal @ e §

HIACHS 9 Bt araenzorr Aar S D AserE @ Aereer A oull B Rveg sracAc o eEnET Qedo Asemr & e grafics 3 smaot geercs
Mg 3 B A A AL AULT THWI & K ama suel Hephil @ A B saer o8 it Riguynt «asre o o a<dl gelidl aa scuso gidt € s
avsfenfyall il et siraen @1 gofdia weon usar § safds & o1 cadl swaar #EuA ©F B A0 ¥ as el umenraw Reieker weared 3 3z o
Fared @ e sibrorw & FToxd € wor, @i sfiz A Bl ara Hme A IR HERIKIRD R okl 3 3z IlRs MeIReEs $U A ¢ SR &
WidelcHs s sismenas st & e 2, Bram sad fop snaerass il Rivor & oo siaeiil 3t ddftn 2t 8 qurdt ort
fBroaer 45 oo guEr G @5 FU A HRIGCHE o # sl B greifar w1 wwwr s 3 sreoas 9 walaifl @ e gRen sraser
DI E  AUDh] BA cllell O T BIH $ell USdl & sled U ferpa Ui offl Tx1 & 2l Jhvl 3, AU Joid odftbrd oI Awzmdl Aol 81 &l
Fwen 3 By ana o srea 8t By sosier s dic Y anad e 3 orvracwe wid of ¥ sad aragg, od Asenz B il snawt se dEil ©
A1 forld stz uz i wwelt ast & swftie amusst Frjita @1 owmmar o usar @ fidmrns, i ama wraoisil @l iy Sesiai an
g sraoIrsil 3 srcreT-a1creT Bt W dl FHA AUDT el AeN H AerR fiel il 2 s daan safko 6 aralds sraend kil E
sad Rradla, goldia siaond 4 it € Bisd oI derom ol ord Rida @ e wakafei orer gefdia R snar 61 smdan sz 3 3w 363 s
ALH & 4 sicfolida wiaend w1l 2iedl 3 ; q 2ildl o8 shed 2kt 2 320 yor za # 31 af2roivr ol sied 8 ko sael [ezdl calts © sifca
FFwr # gwm yofdia weet & e &t sedl 3, s & 50 31 safs 6 gog o) oo sty Wt ar o1 sk asn end-AnEs 3 gaca Reer 6
e @t SIRdt 8, wcl 8 & Yookl ASI W A1 of e 9ilel g gorla & B wrl Faw uv ug siian @t siwdt & R 53 st gRieoe 3R
3CHIE i3 ARG WAl oI yelbia smron anfde aem e, @, sl ofiz aadirer St oieRedne sral D cfivT oo mifze

Within an organization, emotional dissonance affects
fepzft dooa # waencare femisti fipar yanforT ot 8 ?

[Question ID = 1257][Question Description = $2_q5Nz_PG_GP16_Q47]
1. Cognitive consonance/Sseicas agzam [Option ID = 5025]

2. Effective job performance /gardt @t Bemea [Option 1D = 5026]

3. Solutions to labour issues/gp & =1 2Pmm= [Option 1D = 5027]

4. Constructive thinking/zemrns Rive [Option 1D = 502 8]

Correct Answer :-
e Copgnitive consonance/ HEeEmram aama [Option 1D = 5025]

3) Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But emotional labour is relevant to almost every job.
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At the least, your managers expect you to be courteous, not hostile in your interactions with co-workers. The true
challenge arises when employees have to project one emotion while feeling another, This disparity is emotional dissonance,
and it can take a heavy toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emotional
exhaustion and burn out. Emotional dissonance is like cognitive dissonance, except that emotional dissonance concerns
feelings rather than thinking. It is from the increasing importance of emotional labour as a key component of effective job
performance that we have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work that you just plain do not
like. Maybe you consider their personality abrasive, Maybe you know they have said negative things about you behind your
back. Regardless, your job requires you to interact with these people on a regular basis. 50 you are forced to

feign friendliness. It can help you, on the job, especially if you separate emotions into felt or displayed emotions. Felt
emotions are an individual’s actual emotions. In contrast, displayed emotions are those that the organisation requires workers
to show and considers appropriate in a given job. They are not innate; they are learned. Similarly, most of us know we are
expected to act sad at funerals, regardless of whether we consider the person's death a loss and to appear happy at
weddings even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we should
typically express positive emotions like happiness and excitement and suppress negative emotions like fear; anger; disgust
and contempt,

Rraftifiaa s ot tamgede ug sfiz geal © 3 §

WD 9 i AREIRVIT I 25 <& USEIR] W HERIel A 338 & Roog sIaraes 9P oPnEl g A6rR o e grilfer @ amusa geatrs
AT 3 A 2 DA T8 AAET TdT 2 5 ama ager Hemhifil & Arer Rise =aanr o1 iz Agugu omaer o o #wd gelidl aa 3case axdl & aa
avafenfyall @t fpeht siraen @t gofdia weon usar § wafds & o1 call swaar asgA @ B A0 3 as el umenraw Reieker weened 3 30z o
Farzea @ foe siforene 81 wedl @ @01, @i i 3w & oz aaer A AT HIAEHT KBTI Bl E i cafts aaerae FU A g AR §
Widelch e sismencas st & e 2, Bram o fop snaerass sl Rivor & aoirmr siaeii 31 A4t 2 8 qurdt ort
Rrures @ v yg ac @ FU d e 9 # Aaeindii B grRirear o JeiE S 8 ARG aRs 9 il @ fore giten sruea
DHNE  AUD TH ARl o5 W1 D TNl Usdl 2 ied s foragd uzic ol @1 8 8 Jodl &, aa Jords odftoed ©f el A 8 8
Fwen 3 By ana 4 srea 8t By sosiar sy dic Y anod i 3 orvracae wid ot § sad aragg, sod Asenz B il snawt se e ©
A1 Toridieg eIz Uz sid:idoen wwoll usdl 2 seifere anmussl dAdisna o1 fCwamr o usar & [vedsz, afe g Aarasnsil o1 Mopafed HIasiisil Aar
gofdia siraersit 3 sweet-sroet o w1 Al 399 saat saa Asenr # asram B aodt B sopm saendd wale & aralie sramd kdt ¥
s foadia, geldia soaend 4 gl & Bied ©IE Fie1oet [l orl gy @ e welll oo gshia Ree smer & arign swaan 2 il 368 aftm
HloTell 2 o sfatcliger waond gl 2kt & ; o M=t o1 wraemd 2kt 2 =il goorz & 3 31 siffrasier &el sieral 2 b e fpelt cafep o aifear
Frwr # g gofdia oot & siden &t sl 3, 3@ & 50 va wfs 6 g o) ow st Wt ar o sk asn end-wAaes 3 gaca Reer 6
e bl wIwd 2, sict 8 & Yool A& @ Al a e 9iiel AuE golld 2 s Rl Ferdl uz s aman & siwdl 2 e zd sea: Yool iz
Ieas S AaRens il ot gofdia wren wifde aen e, w@ier, sl i sraene SiA sipracad snal ot ofia avsenr e

In a workplace environment, labour managers should give preference to:

DRI Ferel & anmoT 3 o Ydire! ol forsatfafian # 3 Rt grefirsar Soft anf2e ?

[Question ID = 1258][Question Description = S2_qSNz_PG_GP16_Q48]
1. Displayed emotions/goiafr smrenaii @ [Option 1D = 5029)

2. Felt emotions/ e sesrail =1 [Option |D = 5030]

3. Negative emotions/mmmrss saenall o [Option 1D = 5031]

4. Expressions of frustrations/seral & afiiefes &1 [Option ID = 5032]

Correct Answer ;-
o [Displayed emotions/qgiia sraemadli @1 [Option 1D = 5029]

4) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees [Contractual Employees

DEhl;mrtnw'.mstmta[ I.'~|uml::ra»rllfffl 49 Total Number IM—'*Ratm
F F
IT 250 1 |1 [240 2z |1
Accounts 123 2 |1 130 3 |2
HR 90 3 |12 |30 2 |1
Marketing (350 5 |2 |343 5 |2
Production [304 l5 |3 [351 5
forraferdaa staxior @ tarargdes g 3z geal @ e

HECHE 95 Bl sraenvon A S o AsrerA @ tIrrer A ud B Rveq snaenes o TEIET QR ASeR © fore g ¥ anawt gy
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3T A oA A oA ws Aagn w3 R sma st wewhifhl © mre R wrasi w0 i Rgage] woer o wd wd gelidt aa seaser St B o
wantEil o) et siraen o ygibia wen usar £ Jafs a o cadl siaen #izyA o R e A s wasarsas e oeakdt E 4k ag
Farea @ e sifirrw 8 mod 3 wor, anern diz g $t aww snaen A siad: siaena ernE 3l § A valts snasicww Fa A oo s 3
HIAGIIRT eI dsmecan fordetl & aama 8, RBrar sad [Bp smaorans Rseiar e < aamrr simaeni 3t d«afing andt 2 gud! ort
foroutger @ v gapa ae D BU # WAGIAD 95 3 Wil &l grifbal o JaE SR § Wieloiics 91 dafanf¥l o fore gfaen Iouoet
W E D] B TR @Y W W el asal & Bied s Berps ot aiff w8 e B, sma Sor waftoea o) sraedf ;e B &
Fmar & Tp s u1g Sl 2 e 3egial aad dis WS o an A aroRrae anl ©ft 2 59 aIa9g, A6 AR O |IRE Auw! sa dell B
arer forafdrer amens uz sy ool aslt 3 saftre snaoet b wr Rarar avsan asen 3 RAdrawy, afS sira siraansil o) siasa sraensi an
yeidia sraeiil d aceT-aeet @ AW Al FIRT AUDGI el AsPIR 3 Aerad B wadt £ el siaoms waflie @l arafie see sl 8
s frasta, gelfa saes A At ¥ Riod B dieroor et orf fad & fore asfafl zr gelifa Ree sme) Bt siden s 2 ity 3ok s
AR & A siafelida wrae widt St ;I il o snaed 2kt 33l geor 5o A A aif¥reion el st € Re s Reedl safts @ siftmr
FTmr | g Ypiia o & arien & Al 8, st & 591 79 cafic d geg o v 21 wel w1 | Je e ond-weRiE @ Ywow Raer &
3rderr &t siefl B, »8 & s guIcoren WA ¥ ar o ¥ oiter U coid B 5 wrl yel uv s aden & siedl B 5 59 nmreaa: gersoran Ay
ITHIE S IRDREIT WAl T Yeldia wvon wnigw aen s/, @ier, 2 3 saars ST sioRIcars siEl o1 sid wean aiifu

Which of the following feelings one should feign at a workplace?
A, Fear

B. Excitement

C. Contempt

D. Happiness

Choose the correct answer from the options given below

Rl Ferer uv Rt valRs @i Boaitifaa 3 A oier i siraonsii o Renar wseen oifde ?
A. srr
B. sears

€. sreanst

D. gavear

il R 1w Rraseal 3 3 78 we oai @

[Question ID = 1259][Question Description = $2_qSNz_PG_GP16_Q49]

1. Aand B only/aaa A &is B [Option ID = 5033]
2. Band C only/@aer B 4z C [Option ID = 5034]
3. Cand D only/asme C 3fiz D [Option D = 5035]
4. B and D only/<we B &z O [Option ID = 5036]
Correct Answer :-

o A and B only/aa A sfz B [Option 1D = 5033]

5) According to the passage, effective emotional labour management involves :

Irerion @ rofAie, QUKD seTvaw 9 gEeiar # aar wldafem sen 3 7

[Question ID = 1260][Question Description = $2_qSNz_PG_GP16_Q50]
1. Acceptance of emotional dissonance/ smemrar g @5 =iwela [Option 1D = 5037]
2. Free expression of feelings of frustration /ot <5 s 5 v sdcater [Option 10 = 5038]
3. Display of friendly emotions/ #icfiget sirmemat @ geeler [Option D = 5039]
4, Sidetracking the learned emotions/siizdt o smremart @t urd 3 Fzwem [Option D = 5040]

Correct Answer :-
* Acceptance of emotional dissonance/ weenras ety & weeriar [Option 1D = 5037

Topic:- 38Marathi set1_A

1
) TS B RO et Uk 9T R 7

1)  FE-gadE @) fr-fafem

(3) I A {4) Hﬁﬁ—‘lﬁf’iﬁ

[Question ID = 1806][Question Description = Q01_38Marathi set1_A]
1. 1 [Option ID = 7221]
2. 2 [Option ID = 7222]

| 3, 3 [Option ID = 7223]
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| 4. 4 [Option ID = 7224]
Carrect Answer :-
s 1 [Option ID = 7221]

(1) TS (2) BRetia 9
(3)  WmTe 4) SETER

[Question ID = 1807][Question Description = Q02_38Marathi set1_A]
1. 1 [Option ID = 7225]
2. 2 [Option ID = 7226]
3. 3 [Option ID = 7227]
4. 4 [Option ID = 7228

Carrect Answer :-
& 1 [Option ID = 7225]

3)
‘31E efter T rpad’ — a1 faadie SeEraeren YR stiesar
(1)  vwfa g (2) e fpamg
(3 fgis g 4) TEE

[Question ID = 1808][Question Description = Q03_38Marathi set1_A]
1. 1 [Option ID = 7229]
2. 2 [Option ID = 7230]
3. 3 [Option ID = 7231]
4, 4 [Option ID = 7232]

Correct Answer :-
s 1 [Option ID = 7229]

4)
ST AR U@l ST e e I ¢
(1) gegftd (2) fefefed
(3)  widE® @) Tt

[Question ID = 1809][Question Description = Q04_38Marathi set1_A]
1. 1 [Option ID = 7233]
2. 2 [Option ID = 7234]
3. 3 [Option ID = 7235]
4. 4 [Option ID = 7236
Correct Answer :-

e 1 [Option ID = 7233]

‘T =R S agEEen: S feugdt Fai e e SiErereear TaieR J S SR B
AR ] o gl a1 @ STTohR FEvIs el 2/ 379 vl Tgee 31T ¢

(1)  SACHomEmE S (2) O w9
(3)  fevrer e (4) T W

[Question ID = 1810][Question Description = Q05_38Marathi set1_A]
1. 1 [Option ID = 7237]
2. 2 [Option ID = 7238)
3. 3 [Option ID = 7239]
4. 4 [Option ID = 7240]

Carrect Answer :-
s 1 [Option ID = 7237]
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“arfireett ; amdior oMU APR A7 HUT W9TEE W9 7
(1) W . = (2) @1, oI, e
(3) i T Forwon @) A . dEw

[Question ID = 1811][Question Description = Q06_38Marathi set1_A]
1. 1 [Option ID = 7241]
2. 2 [Option ID = 7242]
3, 3 [Option ID = 7243]
4, 4 [Option ID = 7244]

Correct Answer :-
a 1 [Option ID = 7241]

1920 9 1935 o1 Featd SOl o TUEH B Tid ?
(1) =T TR 9) 2. %. o
(3) @ oo @ . 5. o

[Question ID = 1812][Question Description = Q07_38Marathi set1_A]
1. 1 [Option ID = 7245]
2. 2 [Option ID = 7246]
3. 3 [Option ID = 7247]
4, 4 [Option ID = 7248]

Correct Answer :-
s 1 [Option ID = 7245]

8 2 1 S A .
/ " HENIE A AU ST i ¢
(1) 9T FF 2 R % =T
(3 7.8 w=% (4) 7. v wEH

[Question ID = 1813][Question Description = Q08_38Marathi set1_A]
1. 1 [Option ID = 7249]
2. 2 [Option ID = 7250]
3. 3 [Option ID = 7251]
4. 4 [Option ID = 7252]

Carrect Answer :-
s 1 [Option ID = 7249]

g TEUTS UHHE o STl Witdears wveft, alidl st =me il e ?

(1) =gy T (2) ferreT s
(3) Taftwgem 7™ 4) HEn T

[Question ID = 1814][Question Description = Q09_38Marathi set1_A]
1. 1 [Optien ID = 7253]

2. 2 [Option ID = 7254]

3. 3 [Option ID = 7255]

4. 4 [Option ID = 7256]

Carrect Answer :-

e 1 [Option ID = 7253]

10} Fo efifEm T srer=iem A1 @a 91 g % TSl arat wifl e ?

(1) .7 MR (2) >R TG
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(3) TR SiEm @) T S

[Question ID = 1815][Question Description = Q10_38Marathi set1_A]
1. 1 [Option ID = 7257]
2. 2 [Option ID = 7258]
3. 3 [Option ID = 7259]
4. 4 [Option ID = 7260]

Carrect Answer :-
& 1 [Option ID = 7257]

‘NIRRT aTETE B vee wEET ol @it el wHtw agard, SFERE F Yo GoRuihde TR
T, YA STHeret] TaFEaE TR oTEd L & T Homg 1

(1) 7% W (2) = . wewmE
(3 z.aag @ T 7. T
011.jpg">

[Question ID = 1816][Question Description = Q11_38Marathi set1_A]

1. 1 [Option ID = 7261]
2. 2 [Option ID = 7262]
3. 3 [Option ID = 7263]
4. 4 [Option ID = 7264]
Carrect Answer :-

e 1 [Option ID = 7261]

12) o wrowER T WG TR T FEn FESET STATR e SR 7
(1) e (2) T
(3) T @ TR

[Question ID = 1817][Question Description = Q12_38Marathi set1_A]
1. 1 [Option ID = 7265]
2. 2 [Option ID = 7266]
3. 3 [Option ID = 7267]
4. 4 [Option ID = 7268]

Carrect Answer :-
& 1 [Option ID = 7265]

13)  ‘orficif e dRwEe, T A S Uheia o B SuEes o, Tud wiem At 3 @

W W 2. o1 vl e et

(1) TR T (2) H. 71, TETa
(3) . ue @ fergaamy e

[Question ID = 1818][Question Description = Q13_38Marathi set1_A]
1. 1 [Option ID = 7269]
2. 2 [Option ID = 7270]
3. 3 [Option ID = 7271]
4, 4 [Option ID = 7272]

Correct Answer :-
e 1 [Option ID = 7269]

Arefaea Ao HyAsETEr 41 3F THEAT Sevare e wiofi Shel 12 ?

(1)  =AIRAR 99 (2) frara sreE

Far N -TTT T AN :\I?Fl'l-.? ‘I:I.-ITI'LI.I'RTI'
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[Question ID = 1819][Question Description = Q14_38Marathi set1_A]
1. 1 [Option ID = 7273]

2. 2 [Option ID = 7274]

3. 3 [Option ID = 7275]

4, 4 [Option ID = 7276]

Correct Answer :-

e 1 [Option ID = 72713]
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15) ‘e g @ umfvE gt g v wEuHEms Sfd @ WEar AsE, AW RER, WA,

IUSRRTTS! SR STV SRgeaa] Hefe. S fisan 2 o afc . & wa Fiome ame ?

(1) =g ghediy (2) AforaT FHUTSHT
(3) TR STt 4) @& FmTS

[Question ID = 1820][Question Description = Q15_38Marathi set1_A]
1. 1 [Option ID = 7277]

2. 2 [Option ID = 7278]

3. 3 [Option ID = 7279]

4. 4 [Option ID = 7280]

Correct Answer :-

e 1 [Option ID = 7277]

16)
“ehien WA AT FEEIYA YR F0 T W I 3708 7
(1) 1857 9 a4t (2) 1877 = gwh=
(3) 1897 it W= Wy (4) 1885 =t TrEm= T

[Question ID = 1821][Question Description = Q16_38Marathi set1_A]
1. 1 [Optien ID = 7281]
2. 2 [Optien ID = 7282]
3. 3 [Option ID = 7283]

4. 4 [Option ID = 7284]

Correct Answer -
e 1 [Option ID = 7281]

17) fafie FeEs=a geY=ResieT A faEE=AT HeHsmdEl Hifvih degan sfaem fetegen s s
TEEITET TE9R I Agen 3TE ¢
(1) AT g (2) THE THHH
(3)  Fadwe e (4) R TE. 39

[Question ID = 1822][Question Description = Q17_38Marathi set1_A]
1. 1 [Option ID = 7285]

2. 2 [Option ID = 7286]

3. 3 [Option ID = 7287]

4, 4 [Option ID = 7288]

Correct Answer :-

» 1 [Option ID = 7285]

18)  ‘“ywardta fiwr fm 9w agAg 0 whella WRadte S SRl AT S S e I
TR TR TR THS U9 W AU aeHATl Siae TR 9 oa geteraehl il mied ¢

1) A 7. = (2) fe. %. sEm

(3)  WeER TR 4) 3. F.Ta
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[Question ID = 1823][Question Description = Q18_38Marathi set1_A]
1. 1 [Option ID = 7289]
2. 2 [Option ID = 7290]
3. 3 [Option ID = 7291]
4, 4 [Option ID = 7292]

Correct Answer :-

s 1 [Option ID = 7289]

19) . : ~
Al Feaw THNT TvETAl gEH AR SVR Hecd AN S dedos ST AR

21 U B ¢
(1)  w==T AR (2) wiaar foug
(3) e dfem (4) T T

[Question ID = 1824][Question Description = Q19_38Marathi set1_A]
1. 1 [Option ID = 7293]
2. 2 [Option ID = 7294]
3. 3 [Option ID = 7295]
4. 4 [Option ID = 7296
Correct Answer :-

e 1 [Option ID = 7293]

20

D e e B
(1) . =1 TeEre (2) . T ITER
3 fa.= 9@ @) & a9y

[Question ID = 1825][Question Description = Q20_38Marathi set1_A]
1. 1 [Option ID = 7297]

2. 2 [Option ID = 7298]

3. 3 [Option ID = 7299]

4. 4 [Option ID = 7300]

Correct Answer ;-

e 1 [Option ID = 7297)

21)  “Hiypoar wlesd A8 sfra swgedt Prator oAl e womer sy enfer d A witd i aid= s

378 Wehta vl 3t 2 7

R (2) R HAE
(3) . A gse (4) ST S

[Question ID = 1826][Question Description = Q21_38Marathi set1_A]
1. 1 [Option ID = 7301]
2. 2 [Optien ID = 7302
3. 3 [Optien ID = 7303]
4. 4 [Option ID = 7304]

Correct Answer :-
e 1 [Option ID = 7301]

“srefior Sfter B s gedieAT anftn stefeTesea Shgert s’ £ gfieer i |

(1) o=t vw (2) f2. . s=a
(3)  wawewn meh (4) T AT

[Question ID = 1827][Question Description = Q22_38Marathi set1_A]
| 1. 1 [Option ID = 7305]
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| 2. 2 [Option ID = 7306)
3. 3 [Option ID = 7307]
4. 4 [Option ID = 7308]
Correct Answer :-

& 1 [Opticn ID = 7305]

T R SR 9%de TRl o arwfe onfi @emfaw qRETgd S-Sl AT e
ST SOIHAT BibEt g e w7

(1) 4| U meies (2) @ 1. FIUR
(3) . 7. 4 3. # T

[Question ID = 1828][Question Description = Q23_38Marathi set1_A]
1. 1 [Option ID = 7309]
2. 2 [Option ID = 7310
3. 3 [Option ID = 7311]
4. 4 [Option ID = 7312
Correct Answer :-

e 1 [Option ID = 7309]

24) _
‘g aifiresi= Tede T a0 3 emiEn o 7l daee datee sfinsfie was s ga
T . 3 faum o e
(1) TR M (2) 4. 1. 9I3F
(3  fma ool @ f g m@Ew

[Question ID = 1829][Question Description = Q24_38Marathi set1_A]
1. 1 [Option ID = 7313]

2. 2 [Option ID = 7314]

3. 3 [Option ID = 7315]

4. 4 [Option ID = 7316]

Correct Answer ;-

e 1 [Option ID = 7313]

23) oy welfoft T Be RAIRTR Haa £ afe F. o I et SR
(1) TR TS (2) . 4. FEE
(3 T fa o (4) THR W

[Question ID = 1830][Question Description = Q25_38Marathi set1_A]
1. 1 [Option ID = 7317]

2. 2 [Option ID = 7318]

3. 3 [Option ID = 7319]

4. 4 [Option ID = 7320]

Correct Answer ;-

e 1 [Option ID = 7317)

20) e fife e 1% v awaes wonen AeTEE Ten weed, W fife wERe

T 2190 HEFFRE TdaTviieral T2oal . 310 $ivl T8ee ame ?

(1)  95d A S8 (2) T T
(3)  add TTevTE (4) 378 HiEEH

[Question ID = 1831][Question Description = Q26_38Marathi set1_A]
| 1. 1 [Option ID = 7321]
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| 2. 2 [Option ID = 7322)
3. 3 [Option ID = 7323]
4. 4 [Option ID = 7324]
Correct Answer :-

& 1 [Opticn ID = 7321]

. ‘T IEd q/ YT T S B -/ TS STl S Wee il $FR /9 gen e /-
3 vl TEee AR Y
(1) T ST (2) FY9 AW
(3) TRl Wt (4) =P gidEd]

[Question ID = 1832][Question Description = Q27_38Marathi set1_A]
1. 1 [Option ID = 7325]
2. 2 [Option ID = 7326]
3. 3 [Option ID = 7327]
4, 4 [Option ID = 7328]

Correct Answer :-
e 1 [Option ID = 7325]

HIFETE, ATESHEAE o WHVEE  THHHAT B8 SUIR TG o TFHEAT Yl e, 3 SEanigear gron

IR . TF Fi TEool SR ?

(1)  ferge ama (2) =T, . asERt
(8)  TUIY HTETH (@) = Srad

[Question ID = 1833][Question Description = Q28_38Marathi set1_A]
1. 1 [Option ID = 7329]
2. 2 [Option ID = 7330]
3. 3 [Option ID = 7331]
4, 4 [Option ID = 7332]
Correct Answer :-

a 1 [Option ID = 7329]

29 i b b ", ", =, 6] N Ny ",
) oG Had haHd FToAH, ST HIATE AV O el AT 7
1) TR (2) THEaE
3) T @) vmE

[Question ID = 1834][Question Description = Q29_38Marathi set1_A]
1. 1 [Option ID = 7333]

2. 2 [Option ID = 7334]

3. 3 [Option ID = 7335]

4. 4 [Option ID = 7336]

Correct Answer ;-

e 1 [Option ID = 7333]

T 71 A1 AT 37, ST e Wewal W 3R - & °d U 7

(L s (2) wEdl

o

(3)  HrEadA (4) fogans

[Question ID = 1835][Question Description = Q30_38Marathi set1_A]
1. 1 [Option ID = 7337]
| 2. 2 [Option ID = 7338]
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| 3. 3 [Option ID = 7339]
4. 4 [Option ID = 7340]

Carrect Answer :-
& 1 [Option ID = 7337]
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31 i Far ot = =, ™, =, =,
} 7y T Stren: IR P T o e W v TR 7

(1) smewsd (2) RN qER
(3) TEeeTH (@) oy

[Question ID = 1836][Question Description = Q31_38Marathi set1_A]
1. 1 [Option ID = 7341]
2. 2 [Option ID = 7342]
3. 3 [Option ID = 7343]

Carrect Answer :-
# 1 [Option ID = 7341]

32} i . ro_T
TS AT AU Fadl IO ¢
(1)  =nm 924t (2) A
(3)  HEMdY (@) e TR

[Question ID = 1837][Question Description = Q32_38Marathi set1_A]
1. 1 [Option ID = 7345]

2. 2 [Option ID = 7346]

3. 3 [Option ID = 7347]

4. 4 [Option ID = 7348]

Correct Answer ;-

e 1 [Option ID = 7345]

33

: “Arest 7 wiferyaeeatales s’ @ R ga SR 7
1)  SEEEE (2) SIHEdA
(3)  Ficie™ @) gl

[Question ID = 1838][Question Description = Q33_38Marathi set1_A]
1. 1 [Option ID = 734%]

2. 2 [Option ID = 7350]

3. 3 [Option ID = 7351]

4. 4 [Option ID = 7352]

Correct Answer :-

» 1 [Option ID = 7349]

) ey 21 ATSAATHR TGH SHIVRAT SAT THTET 3TAT ¢
(1) g (2) TaEE
(3) @) s

[Question ID = 1839][Question Description = Q34_38Marathi set1_A]
1. 1 [Option ID = 7353]
2. 2 [Option ID = 7354]
3. 3 [Option ID = 7355]
4, 4 [Option ID = 7356]

Correct Answer :-
a 1 [Option ID = 7353]

33) “orrten WA S9N HUCTR ST @Al 3 Td HIOME ¢

() &g (2)  HAFEEE

(1) = Ay o=z
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L)

[Question ID = 1840][Question Description = Q35_38Marathi set1_A]
1. 1 [Option ID = 7357]

2. 2 [Option ID = 7358]

3. 3 [Option ID = 7359]

4. 4 [Option ID = 7360]

Correct Answer ;-

e 1 [Option ID = 7357]

(1)  orftrrrh) T oidm =a

(2)  ArEidie BIUGE T 3%

(3 -

(4)  wAfEa TR Tel ATESETh] TG BT AETHR

[Question ID = 1841][Question Description = Q36_38Marathi set1_A]
1. 1 [Option ID = 7361]
2. 2 [Option ID = 7362]
3. 3 [Option ID = 7363]

Carrect Answer :-
& 1 [Option ID = 7361]

37)  ArrreEETATe TSR SR TSk afiel e Fowd ?

(1) =@ (2) FPFEEE
(3) W @ g

[Question ID = 1842][Question Description = Q37_38Marathi set1_A]
1. 1 [Option ID = 7365]
2. 2 [Option ID = 7366]
3. 3 [Option ID = 7367]
4. 4 [Option ID = 7368
Correct Answer ;-

e 1 [Opticn ID = 7365]

38)
‘SR At W e Ees i AR Y
(1) = (2) TR HiEviE
(8) TR agSl I (4) SEARA

[Question ID = 1843][Question Description = Q38_38Marathi set1_A]
1. 1 [Option ID = 7369]
2. 2 [Option ID = 7370]
3. 3 [Option ID = 7371]
4. 4 [Option ID = 7372]

Carrect Answer :-
s 1 [Option ID = 7369]

(1) =AY 2l (2) &S wee

(3)  warsf guE (@) =t aEw
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[Question ID = 1844][Question Description = Q39_38Marathi set1_A]
1. 1 [Option ID = 7373]
2. 2 [Option ID = 7374]
3. 3 [Option ID = 7375]

4. 4 [Option ID = 737

Correct Answer :-

& 1 [Option ID = 7373]

¥ 314, 99 9.

T FETEIEAT T ATeh! HIomieet oiea ?

(1) e (2) wEEE
(3) TEEE (4) e I

[Question ID = 1845][Question Description = Q40_38Marathi set1_A]
1. 1 [Option ID = 7377]
2. 2 [Option ID = 7378]
3. 3 [Option ID = 7379]
4, 4 [Option ID = 7380]

Correct Answer :-
e 1 [Dption ID = 7377]

YETcTaeh] TaTEl sl ¥4 o ?
()  aeEEt

(B)  a T

(C) gwm

(D) =@

(1) =% (A) =TT (B)
(2) e (A) wfT (D)
(3) e (B) =nfor (C)

(4)  FHaew (C) i (D)

[Question ID = 1846][Question Description = Q41_38Marathi set1_A]
1. 1 [Option ID = 7381]
2. 2 [Option ID = 7382]
3. 3 [Optien ID = 7383]
4. 4 [Option ID = 7384]

Correct Answer :-
e 1 [Option ID = 7381]
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(A  Hiem
(B) gy
(Cy T

(D) IR

TETHehl 3T AT st
1)  =Ee (A) 37T (C)
@ &= (B) e (D)
(3)  FE@ () I (D)

(4)  FIw (B) 30 (C)

[Question ID = 1847][Question Description = Q42_38Marathi set1_A]
1. 1 [Option ID = 7385]
2. 2 [Option ID = 7386]
3, 3 [Option ID = 7387]
4. 4 [Option ID = 7388]

Carrect Answer :-
& 1 [Option ID = 7385]

T 3o 19 T gEierdshi v Wit ae o e ong ?

(8 Tz
B st
(©) =

(D)  wited

(B) =&

(1)  Fam (B), (O) i (D)
(2)  a® (C). (D) T (E)
(3)  aw (B), (D) 3m (E)

(@)  Fae (A), (B) 31fr (C)

[Question ID = 1848][Question Description = Q43_38Marathi set1_A]
1. 1 [Option ID = 7389]

2. 2 [Option ID = 7390]

3. 3 [Option ID = 7391]

4, 4 [Option ID = 7392]

Carrect Answer :-

e 1 [Option ID = 7389]

(&)  TaemA giEi

(B) ST WY ST
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(C)  Teamw

(D) TG AT FImEe
(E) =NTEAH

Rl ST T e

(1) == (A), (O) il (E)
@) 3 (A), (C) I (D)
(3) A= (B), (C) =niw (D)
(4)  ®a=z (C), (D) =nfur (E)

[Question ID = 1849][Question Description = Q44_38Marathi set1_A]
. 1 [Option ID = 7393]
2 [Option ID = 7394]
3 [Option ID = 7395]
. 4 [Optien ID = 7396

o 2

Correct Answer :-
e 1 [Option ID = 7393]

*3) i Fvrem e T wfEes TR TR ST A s 7
A . 9. e
B) TR T
(Cy TmAEeh ¥&a
(D) =1 7. & W

(B) = faecyga

eIt 3% TE FaE.

1) FE= @A), (D) 3 (E)
(2) A (B). (C) ¥ (D)
(3) = (A), (B) =i (C)

(4) s (C). (D) 21fn (E)

[Question ID = 1850][Question Description = Q45_38Marathi set1_A]
. 1 [Option ID = 7397]
2 [Option ID = 7398]
. 3 [Option ID = 7399%]
. 4 [Dption ID = 7400]

N N T T Y

Correct Answer :-
e« 1 [Option ID = 7397]

(A) T=A9F

(B) SIS T

(C) =y

Dy  faeed g
Tt ST A P
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(1) @ (A) I (C)
2) @ (B) 0T (D)
(3) = (C) sl (D)
@)  Fam (A) =i (B)

[Question ID = 1851][Question Description = Q46_38Marathi set1_A]
1. 1 [Option ID = 7401]
2. 2 [Option ID = 7402]
3. 3 [Option ID = 7403]
4, 4 [Option ID = 7404]

Correct Answer :-
a 1 [Dption ID = 7401]

47)  gefte wea a1 gEEtHT FIOAT WA AR SHIATE HE A2 7

(A) TN 3R

(B) T d@rEes S®

©  wfor
D) =
TEITIeh 9T TATE ST

(1) A (A) 3 (C)

2 @ (B) ¥ (C)

(3) % (B) oo (D)

(4) e (C) ¥ (D)
[Question ID = 1852][Question Description = Q47_38Marathi set1_A]
1. 1 [Option ID = 7405]
2. 2 [Option ID = 7406]
3. 3 [Option ID = 7407]
4. 4 [Option ID = 7408)

Carrect Answer :-
& 1 [Option ID = 7405]

48) BTET T FEREaaUomTel] T SaT PIoTed] AT hYARUE TEAT- T SuEe A ¢

&) o wifporel gmmEie
(B) i T
(C)  =FrawIraT=aT e AR

(D) WA=

URAt=hl 3= = st
(1) e (3) sl (B)
(2)  Faw (A) o (D)
(3) = (B) =0 (O)
4  Faw (B) o7 (D)

[Question ID = 1853][Question Description = Q48_38Marathi set1_A]
| 1. 1 [Option ID = 7409]
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| 2. 2 [Option ID = 7410]
3. 3 [Option ID = 7411]
4. 4 [Option ID = 7412]
Correct Answer :-

& 1 [Opticn ID = 7409]

At T ioRTaT Gl o WITIaET v 21T 7

(A)  TEICIITE] Fieera
(By . fa. =idie
(C) AR ST

D) [ =7 TraE

(B) g sge daa

qaieTehl 3Tg% A FEeT.

(1) %= (A). (B) 371 (C)
(2) e (A), (D) =i (E)
(3) %@ (B). (C) =0 (D)

4)  =aw (C). (D) 21 (E)

[Question ID = 1854][Question Description = Q49_38Marathi set1_A]
1. 1 [Option ID = 7413]
2. 2 [Option ID = 7414
3. 3 [Option ID = 7415]
4. 4 [Option ID = 7416
Correct Answer :-

& 1 [Opticn ID = 7413]

%) YRS IO AT IO A e ¢
&) g
(B) zorl
(C) s
(D) i
YRR 3T A s

(1) Fas (A) 1 (B)
(2) s (B) &7 (C)
(3)  Hae (C) s (D)

(49 Fam (A) 11 (C)

[Question ID = 1855][Question Description = Q50_38Marathi set1_A]
1. 1 [Option ID = 7417]
2. 2 [Option ID = 7418]
3. 3 [Option ID = 7419]
4, 4 [Option ID = 7420]

| Correct Answer :-



www.prepp.in

| = 1 [Option ID = 7417]

[Question ID = 1856][Question Description = 51_38Marathi set1_A]

(&)  =EE dEEE

(B) SEArA

(C) 30l g wE T 7
D) TEaE e —— !
1) Fa (A) amf (B)
(2)  “as (B) snfor (C)
(3) A (C) I (D)
(@) FF (A) W7 (D)

1. 1 [Option ID = 7421]
2. 2 [Option ID = 7422]
3. 3 [Option ID = 7423]
4, 4 [Option ID = 7424]

Correct Answer :-
a 1 [Option ID = 7421]

52)

[Question ID = 1857][Question Description = Q52_38Marathi set1_A]

(A) ELIEL]

(B) WU

(Cy T

(D) TR A

() It 9%

QTR ST 9ATE ST

(1) @ (A). (B) ft (C)
2 #=es (B), (C) ;i (D)
3)  F@z (C). (D) 3l (E)
(4)  Faz (B). (C) &1 (E)

1, 1 [Option ID = 7425]
2. 2 [Option ID = 7426]
3. 3 [Option ID = 7427
4. 4 [Option ID = 7428]

Carrect Answer :-
& 1 [Option ID = 7425]

TSR ST TSR Wifeced e o7 AT ST TSaR HatdTl STHaw ¢

FAN

b e .I'\;:-_l'lp.‘ = Ll
TETTTT TTTTTET TUTTET T YT TWTTTTTET TrTTT
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'lq_-l'.l.; WEITENTE WML WTTEL TR ""liq\"‘_ll'rl'r\ll' AL CTTREOCATY TR T 0T A
(B) wfeca oY 9mT o1 iR TR UROnH SrEvETEn e
(C)  =TeHATN U WA TV e (o

(D) AT 7 G e I0@ 97 T sotell faar

YRITIh 3T T Fast.
(1) e (A) & (C)
(2)  FEm (A) o (B)
(3) @ (B) T (C)
4) s (B) A (D)

[Question ID = 1858][Question Description = Q53_38Marathi set1_A]
1. 1 [Option ID = 7429]

2. 2 [Option ID = 7430]

3. 3 [Option ID = 7431]

4. 4 [Option ID = 7432]

Correct Answer ;-

s 1 [Option ID = 7429

(B) 359 Q@A

(©) @=a T
(D) TR AR
gt I T s

(1) & (4) afr (B)
(2)  =HEw (B) T (C)
(3) %= (C) & (D)
@)  =aw (A) a7 (D)

[Question ID = 1859][Question Description = Q54_38Marathi set1_A]
1. 1 [Option ID = 7433]
2. 2 [Option ID = 7434]
3. 3 [Option ID = 7435]
4. 4 [Option ID = 7436]

Carrect Answer :-
& 1 [Option ID = 7433]

(A)  ITE
(B)  ataehm
(C) 1=
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(1) FEe Q) i (B)
(2)  aw (B) Ifor (C)
(3)  Fa® (C) a7 (D)

(4)  Ham (A) w1l (O)

[Question ID = 1860][Question Description = Q55_38Marathi set1_A]
1. 1 [Optien ID = 7437]
2. 2 [Optien ID = 7438]
3. 3 [Option ID = 7439]
4. 4 [Option ID = 7440]

Correct Answer -
e 1 [Option ID = 7437]

(D) T seEt sTen

(E)  TSTRMeT O 50

YRRl S T e

(1) =@ (A). (B) =T (C)
(2) = (B). (O) =il (D)
(3) %9z (O), (D) 3 (E)
(4) Az (B), (D) anfir (E)

[Question ID = 1861][Question Description = Q56_38Marathi set1_A]
1. 1 [Option ID = 7441]
2. 2 [Option ID = 7442]
3. 3 [Option ID = 7443]
4. 4 [Option ID = 7444]

Carrect Answer :-
& 1 [Option ID = 7441]

D) & WREEA T wER
(E) Serem
g 3TF A sl

1) = (A). (B) 2170 (C)



www.prepp.in P repp

Your Personal Exams Guide

(2) =@ (A). (C) 21 (E)
(3)  ae (B). (C) nfur (D)

(4)  Fa® (C). (D) =% (E)

[Question ID = 1862][Question Description = Q57_38Marathi set1_A]
. 1 [Option ID = 7445]
2 [Option ID = 7446]
3 [Option ID = 7447]
. 4 [Option ID = 7448]

oW

Correct Answer :-
e 1 [Opticn ID = 7445]

(A) TG

(B) gz

(Cy =R

D)  uFH

(E) 9=

TEfTIeh ST TATE ST

(1) @@ Q). B) 21 (C)
2) e (B). (C) @it (D)
(3 ==e (C). (D) i (E)
4  FF% (B). (D) 31 (E)

[Question ID = 1863][Question Description = Q58_38Marathi set1_A]
1. 1 [Optien ID = 7449]
2. 2 [Optien ID = 7450]
3. 3 [Option ID = 7451]
4. 4 [Option ID = 7452]

Correct Answer -

e 1 [Option ID = 7449]

99)  wg=Ee e §H YR BV ?

(A) =l

(B) wgeat

(Cy T\

(D)  amefi

et e v fasn

(1)  wdes (A) #F17 (D)
(2) e (A) o1 (B)
(3)  “hae (B) slur (O)

(4) e (C) =7 (D)

| [Question ID = 1864][Question Description = Q59_38Marathi set1_A]
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1. 1 [Option ID = 7453]
2. 2 [Option ID = 7454]
3. 3 [Option ID = 7455]
4. 4 [Option ID = 7456]
Carrect Answer :-

e 1 [Option ID = 7453]

(A)  Teasfuer

B) TFag

(C) amfew

D) Rl

gt 3TgF T e

(1) a3 (A) 3 (D)
(2)  Fae (B) &t (D)
(3) ke (B) 3107 (C)

4  =aw (C) 3o (D)

[Question ID = 1865][Question Description = Q60_38Marathi set1_A]
. 1 [Option ID = 7457]
2 [Option ID = 7458]
3 [Option ID = 7459]
. 4 [Option ID = 7460]

oW

Correct Answer :-
e 1 [Opticn ID = 7457]

TSR ST T et
() =@ (B) 3 (C)
2 Ee (A) s (D)
(3)  ae (A) InfT (B)

(4  wae (C) I (D)

[Question ID = 1866][Question Description = Q61_38Marathi set1_A]
1. 1 [Option ID = 7461]
2. 2 [Option ID = 7462]
3. 3 [Option ID = 7463]
4, 4 [Option ID = 7464]

Correct Answer :-
e 1 [Option ID = 7461]
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| 62)  wrfiarerTe I A S TR 7

(A)  wEiEcEheETen I S
(B) SrETem NI TR0 TUY F0l

(C) mEN e fEe F0

(D)  =hGehiel ieorsl Havd |00

(E) wifecawn sfos qumeor

(1) === (A), (D) 2T (E)
(2)  FFwm (B). (C) =nfh (D)
(3)  wEm (A). (B) 30 (C)
4 @ (C), (D) 3o (E)

[Question ID = 1867][Question Description = Q62_38Marathi set1_A]
1. 1 [Option ID = 7465]
2. 2 [Option ID = 7466]
3. 3 [Option ID = 7467]

Carrect Answer :-
& 1 [Option ID = 7465]

(A) e TEE

(B) ot swen

() #

(D)  FlEan FEe
Tl 3T T e

(1) == (&) 37l (C)
2) s (A) = (D)
(3)  Fa® (B) a0 (C)
4)  am (C) T (D)

[Question ID = 1868][Question Description = Q63_38Marathi set1_A]
. 1 [Option ID = 7469]

2 [Option ID = 7470

3 [Option ID = 7471]

. 4 [Optien ID = 747

N S PPN S

Correct Answer :-
e 1 [Option ID = 7469]
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B e s

(C) =

Dy ™

Udehl 1 A e,

(1) == (A) & (B)
(2)  haes (A) T (D)
(3) g (B) =i (O)

(4)  waes (C) =T (D)

[Question ID = 1869][Question Description = Q64_38Marathi set1_A]
1. 1 [Option ID = 7473]

2. 2 [Option ID = 7474]

3. 3 [Option ID = 7475]

4, 4 [Option ID = 7476]

Correct Answer :-

e 1 [Option ID = 7473]

§3) ydieitehl =it 3R wHAnl wrssEn @) Ed e 7

(A)  REIEE AR .

(B) WUSIYIE Teha qrsard "r=ral fiesan.

(C) T SRRl SHCERr=AT ToTed e .
(D)  wEoF AETE YR TRENGH TR 5a 3v,
(E)  WYTThM Stohe SATIawHToT 301,

TRl 39 T st

(1) ¥ (A), (B) 31 (©)
@)  FFE (A), (O) = (D)
(3)  Faw (B), (C) s (E)
(4) Az (B), (D) =i (E)

[Question ID = 1870][Question Description = Q65_38Marathi set1_A]
1. 1 [Optien ID = 7477]

2. 2 [Option ID = 7478]

3. 3 [Option ID = 7479]

4. 4 [Option ID = 7480]

Carrect Answer :-

e 1 [Option ID = 7477]

3 S 27 % x i
T ohed1 Togla @ T WO ATeAT S Soodl.

=1 =h-1I

(A) 9ITSF WS Tehea M T
(B) TRHEEA &l WehowHl I} =& Fe

(C) iy adran g (IIT) HfeTTawh
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(D) it aMaEERRET g
(1) (A)-D. B)-AD). (O-(I1D). (D)-AV)
(2) (A)-ID), (B)-ID), (C)-(D. (D)-(IV)
(3) A)-IV). (B)-(I1D). (C)-(ID. M)-(D
(4) (A)-(T). (B)-(I1I). (C)-(IV). (D)-II)

(IV)y s=iiE & aib

[Question ID = 1871][Question Description = Q66_38Marathi set1_A]

1. 1 [Option ID =
2. 2 [Option ID =
3. 3 [Option ID = 7483]
4. 4 [Option ID = 7484
Correct Answer ;-
e 1 [Option ID =

7481
7482

7481]
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T
@
(B)
(©

(D)

& Y
e AV ACHFHR AT SN el

il Rt et
SEEAR FHIE

el g

I { WA T 2O

TR ST9F TE s

(1)
(2)
(3)
(4)

(&4)-(1D). (B)}-(D). (C)-AD. (D)-{IV)
(A3)-IV). (B)-(I), (C)-(1L). M-I
(A)-D). B)-ID. (O)-(ID). (D)-IV)
(&)-aD). (B)-@). (C)-(IV). (D)-(II)

gt -II

@ . q. s
(1) =5 FHEH
(IIT) 3reqa a9

IV) @

[Question ID = 1872][Question Description = Q67_38Marathi set1_A]

. 1 [Option ID =

1

2. 2 [Option ID =
3. 3 [Option ID =
4. 4 [Option ID =

7485]
7486)
7487)
7488)

Carrect Answer :-

& 1 [Option ID =

7485]

A TS ST STTAEH TroAl SIS Feal.

-1
{A)
(B)

(O

(D)

EEE LD
afect ==m
BIGEG
SEE

I f

TR ST AT s,
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(1)
2
(3)
(4)

(A4)-aAD. (B)-aAV). (O)-(D. (D)-(II)
(A)-(1D). (B)-IV). (O)-(I). (D))
(A)-@V). (B)-(D. (C)-1O). (D)-(ID)
(A)-AII). (B)-(IV). (C)-(1). (D)-IT)

[Question ID = 1873][Question Description = Q68_38Marathi set1_A]
1. 1 [Option ID = 7489]
2. 2 [Option ID = 7490]
3. 3 [Option ID = 7491]
4. 4 [Option ID = 7492]

Correct Answer ;-
e 1 [Option ID = 748%]

69)

Fread
T=t-1
(&)
(B)

©

(D)

& IR A1 AIS=I Heael.

qdfeTieh ST AT FHast.

(1)
(2)
(3
(4)

(A)-AD. (B)-(D). (C)-AV), (D)-d1I)
(A)-@). B)-(I1D). (C)-AI). (D)-(AV)
(&)-1D). B)-(IV). (C)-(ID). (D)~T)
(A)-(ID). (B)-(ID). (C)-(IV). (D)-(I)

(I) W1
(II) APFY
(I1II) =hr=t

(V)

[Question ID = 1874][Question Description = Q69_38Marathi set1_A]
1. 1 [Option ID = 7493]
2. 2 [Option ID = 7494]
3. 3 [Option ID = 7495]
4. 4 [Option ID = 7496]

Carrect Answer :-
& 1 [Option ID = 7493]

it #r
215 T
T o

I3 HEFEH

(1)
(2)
3
(4)

(A)-@). B)-(ID. (C)-aAV), (D)-(1I)
(A)-AV). (B)-(D). (O)-(D), (D)-1I)
(A)-AD. (B)-D. (O)-(IV). (D)-ID)
(A)-@V). (B)-(ID),. (C)-aD). (D)-(I)

I I
(I T
(IIT) == Ioi=n S

(IV) wad sredH

prepp
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[Question ID = 1875][Question Description = Q70_38Marathi set1_A]

1.1

[Option ID = 7497]

2

[Option ID = 7498]

3. 3

[Option ID = 7499]

4. 4

[Option ID = 7500]

Correct Answer ;-

LI

[Option ID = 7497]

(1)
(2)
(3)
(4)

(A)-D. (B)-dID). (C)-aD). (D)-(IV)
(A)-0D. (B)-(D). (C)-(I1D). (D)-(IV)
(A)-(ID). (B)-(D). (C)-(D). (D)-AV)
(A)-IV), (B)-I)., (C)-(III). (D)-(I)

Reig!
(D @ e

) wgred Al

(IIT) =0, 1. FEE

(IV) TW=Ig TR

[Question ID = 1876][Question Description = Q71_38Marathi set1_A]

oW pr o=

Correct Answer :-

. 1 [Option ID = 7501]
2 [Option ID = 7502

3 [Option ID = 7503]
. 4 [Option ID = 7504]

e 1 [Option ID = 7501]

HHTEAE  FATHR JTAT S Fezel.

-1

(A) T

B) T F

(C) H&=
(D) THTS 301 it

Qe ST A et

(1) (A)-(D). (B)-(ID. (C)-IID). (D)-(IV)
2)  (A)-aD. B)-D. (C)-I). (D)-AV)
(3}  @-AV). (B)-IID. (C)-AD), (D)-(I)
(y  (AVATH (R (O TV (DD

FA-IT

(D SR oI
(1) HIR 7
II) 3. 3. T

(IV) T TG

prepp
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[Question ID = 1877][Question Description = Q72_38Marathi set1_A]

. 1 [Optien ID = 7505]
2 [Option ID = 7506

3 [Option ID = 7507]
. 4 [Option ID = 750

o 2

Correct Answer :-
e 1 [Option ID = 7505]

prepp

Your Personal Exams Guide

R

73} 3iy anfor sioreR AT ST T

i1

(A Tl

(B) At

(C) stfira e

(D) e

YRIATEl ST T FiFsT.

1  (A-AV). (B)-dID. (O)-ID. (D)-(D
2y  @A)-D. B)-IAM). (CO)-1D. ()-AV)
(3)  (A)-dI). (B)-@V). (O)-ID. M)-(D
@ A-AV), (B)-AID. (C-D. D)-ID)

[Question ID = 1878][Question Description = Q73_38Marathi set1_A]

. 1 [Option ID = 7509]
. 2 [Option ID = 7510]
. 3 [Option ID = 7511]

Carrect Answer :-

e 1 [Option ID = 7509]

(1) (A-ID, B)-(IV). (C)-IID. (D)-(I)
@2y  (A-0. B)-II). (C)-aD). (IH-0V)
3 (AID. B)-(IV). (C-(D. (D)-AIL)
4 (A-dD. B)-(D. (C)-IV). (D)-IIL

o |

D st T
(I} =R
(IID) fr. =t o

IV) . = Tz

[Question ID = 1879][Question Description = Q74_38Marathi set1_A]

1
2
3
4

. 1 [Option ID = 7513]
. 2 [Option ID = 7514]
. 3 [Option ID = 7515]
. 4 [Option ID = 7516]
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Carrect Answer :-
& 1 [Option ID = 7513]

el °t ST el Bl 3 SRS F9 ST endie IE I SiSe wE.

Tt

A I3
(B) ara
(C) fagie

(D) T

el s =T faer

(1)  (A)-AID. (B)-IV), (C)-0D). (D)-()
2 @O, B&-dI), (O-AV). (D)D)
(3)  A)-AV). (B)-dID). (C)-aD), D)-M)
@  (A-dD, B)-IV). (C)-O), (D)-IID

FH-11

() s
(IT)y ==
(IIL) Srhi
(IV) s

[Question ID = 1880][Question Description = Q75_38Marathi set1_A]
1. 1 [Option ID = 7517]
2. 2 [Option ID = 7518]
3. 3 [Option ID = 7519]
4. 4 [Option ID = 7520

Carrect Answer :-
& 1 [Option ID = 7517]

QR vl sieATdier 9Isg Shivid 7
4 3=

(B)  wEEh

(C) HER

(D) &SR

(E) wo

() (A, B (). D).
(2) @A), (C) (E)
(3  (B). (O), D). (E)
(4) (B). D). (E)

[Question ID = 1881][Question Description = Q76_38Marathi set1_A]

N VL B T Y

. 1 [Option ID = 7521]
. 2 [Option ID = 7522]
3 [Option ID = 7523]
. 4 [Dption ID = 7524]

Correct Answer ;-
e 1 [Option ID = 7521]

- [ . i
ﬂﬁplc_-rl B G E LG E DS L 1 0 1] m FH oAl

pPrepp
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(A) WS TS

(B) TremeEd

(C)  adumEdIieT

(D) THEEH

(E) gmiza

qEietiehl st T FHast.

(1) (A, (E). (C). (D). (B)
@ (B). D). C). (E). A)
3)  (E. A). B). (0. D)
(4)  (B). (E), D). (C). A)

[Question ID = 1882][Question Description = Q77_38Marathi set1_A]
1. 1 [Option ID = 7525]

2. 2 [Option ID = 7526]

3. 3 [Option ID = 7527]

4. 4 [Option ID = 7528]

Correct Answer :-

* 1 [Option ID = 7525]

(A) Tl

(B)y ArHEd
(C) =

(D) U= SEHESAEn

(E) deis
YRIETIehl ST AT .

(1)  B®). A, D), (). (E)

2) (A, (B). (), D). (E)

(3)  (O). D). A). E). B)

(4 . (). D). (E). (B)
[Question ID = 1883][Question Description = Q78_38Marathi set1_A]
. 1 [Option ID = 7529]
2 [Option ID = 7530

3 [Option ID = 7531]
. 4 [Option ID = 7532

N S PP oy

Correct Answer :-
e 1 [Option ID = 7529]

e ST A=A HUEETE TR AR HH A=,

(A) TR @M
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(B)  ¥=EgH oH
(C) ol seIH
(D) fe@ @
(E) =% g5t
Tl ST T e
(1)  (C). (B). (A). (E). (D)
(2) A B). (E). D). (C)
3) (B (O A).(E). D)
4) (D). (E). (O). (B). (&)

[Question ID = 1884][Question Description = Q79_38Marathi set1_A]

1. 1 [Option ID = 7533]
2. 2 [Option ID = 7534]
3. 3 [Option ID = 7535]
4. 4 [Option ID = 7536]

Correct Answer -
e« 1 [Option ID = 7533]

80)

[Question ID = 1885][Question Description = Q80_38Marathi set1_A]

T BT AT TN ER % .

(A) AR

(B) =1 SE

(C)  TmrerFIy St

(D)  FACTT=A TooTae
(E) ==

L E.@. D). ©. B
(2) (B). (A). (E). (C). (D)
3  (E).A). Q). D). B
(4) (A). (O), (D). (B). (E)

1. 1 [Option ID = 7537]
2. 2 [Option ID = 7538]
3. 3 [Option ID = 7539
4. 4 [Option ID = 7540]

Correct Answer -
e 1 [Option ID = 7537]

(A)
(B)

Q)

i

pPrepp
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(E) wd@
URIAdhl 3T T e,
(1) (&), D). (C). (E). (B)
2 (B W. ). D). E)
3) (B (C)hA).B). D
@ (D). A& (0. (B). (E)

[Question ID = 1886][Question Description = Q81_38Marathi set1_A]
. 1 [Option ID = 7541]
2 [Option ID = 7542]
. 3 [Option ID = 7543]
. 4 [Option ID = 7544]

N S PU Y

Correct Answer :-

a 1 [Dption ID = 7541]

82)

[Question ID = 1887][Question Description = Q82_38Marathi set1_A]
. 1 [Option ID = 7545]
2 [Option ID = 7546]
. 3 [Option ID = 7547]
. 4 [Option ID = 7548]

o e =

Correct Answer :-

(4) HER

(B)  Hifaquumer

(C)  yraomg

(D)  STFREE

(E)  Tawfan

(1) (B). (V). (E). D). (C)
2) AL B). ©. D). E)
(3)  (E), (D), (O). (B). (A)
(B (O (B). (4. (E). (D)

& 1 [Option ID = 7545]

(A)
(B
(o)
(D)

(E)

pPrepp
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TRl ST T St
1 D). B). ), (E). &)
2 (®).D). &). E).©)
3 (O). (E). A). B). (D)
4 Q. (E). (©). B). D)
[Question ID = 1888][Question Description = Q83_38Marathi set1_A]
. 1 [Option ID = 7549]
2 [Option ID = 7550]

3 [Option ID = 7551]
. 4 [Option ID = 7552]

DB ot R

Correct Answer ;-
e 1 [Option ID = 754%]

(A) I

(B) d=ier Fey
(©) sl

(D) T

(E) e

1)  (E). ). D). B). O
2 Q.. B ©). E
3) D) (B). (C). (E), (A)
4) (B (C), (B). D), (A)

[Question ID = 1889][Question Description = Q84_38Marathi set1_A]
1. 1 [Optien ID = 7553]

2. 2 [Option ID = 7554]

3. 3 [Option ID = 7555]

4. 4 [Option ID = 7556]

Correct Answer ;-

e 1 [Option ID = 7553]

85 ;
) IS AR TATSAT WA ER 3H ST,
(&) v
B) iR T
(C)  w9mEn
@) =R
(E) Fes

(1)  (©). B). &). D). (E)
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2) D). @A), (E) ©. B
3)  (E). D). (1), ). ©)

4y (B). (A). (O), (E). (D)

[Question ID = 1890][Question Description = Q85_38Marathi set1_A]
1. 1 [Option ID = 7557]
2. 2 [Option ID = 7558]
3. 3 [Option ID = 7559]
4. 4 [Option ID = 7560]

Correct Answer :-
& 1 [Option ID = 7557]

86) w3 3m faum feeh sEa. (A) AHiiE Rramme TrdeR (R) 79 e o,

Assertion (A): TSRIGIFA FEAHIE 71 FEARIGUOR STEHY TE0MET F5e,

Reason (R) : TSI o TUW Fa=ads FoAuTS, Teaatl, Foads, Hiawad, Featid] J

TEEH A SEdla Hiereal gEA e ST
A A A SUR S TEE FEs.

(1) (A i (R) 5O 3157 (R) ® (A) 9 A7 TEH0 3.

(2) (A) 3T (R) s 211ed. 991 (R) 2 (A) = a9 D380 A7al.
(3) (A) TR, W (R) TF TR,

@ (AT, T R) TR 3R,

[Question ID = 1891][Question Description = Q86_38Marathi set1_A]
1. 1 [Option ID = 7561]

2. 2 [Option ID = 7562]

3. 3 [Option ID = 7563]
4. 4 [Option ID = 7564]

Correct Answer ;-

e 1 [Option ID = 7561]

87) o8 9m s Rl amea. (A) weiie faamm s (R) e e oTe.

Agsertion (A) :  JTENYHEA TS SgeR A0 suET AmEndt PEsmErrE s e e anea.
TR T Tt daa I,

Reason (R) : ‘"o sgen ghEa A TeE AT 9 S 99 81 WA 3R, W T
BT T I ST O YHIR IqR T, 7% AEEA Teed AT,

T gF fAgFTEn SR oTas i .

(D) (A) =l R) s 38T (R) B (A) = AT W R,

(2) (A) 217 (R) SO 31124, 997 (R) B (A) 9 79 TIsatol T,

(B) (A, wg R) TH A7,

@ Q) TF, Tg R) ST T,

[Question ID = 1892][Question Description = Q87_38Marathi set1_A]
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. 1 [Optien ID = 7565]
2 [Option ID = 7566]
3 [Option ID = 7567]
. 4 [Option ID = 7568]

oW

Correct Answer :-
e 1 [Opticn ID = 7565]

88) 3 2m faum fich oma. (A) 9w fum T (R) A8 R o,

Assertion (A): TERIZEA YUK fafey dcamemdie dwmren warhdiagd SewmiiE o
Sfafafie S TR Jie=n T oA qUa Hesien g9 Herw.

Reason (R) : TS T oA Feamed e, 9evd, SiHe sEn de] sielidien

1 g feramrean snem s v e

1 (A) 1 (R) R 513 (R) 2 (A) & 77 w0 o
@ (A aufr (R) stk smsd. 901 (R) 2 (A) = =g wagiaon 8.
3 (AT, Vg (R) I5 &R,

@ (A g%, T (R) T 3.

[Question ID = 1893][Question Description = Q88_38Marathi set1_A]
. 1 [Option ID = 7569)
2 [Option ID = 7570
3 [Option ID = 7571]
. 4 [Option ID = 757

oW =

Correct Answer :-
& 1 [Opticn ID = 7569]

%) 3 dm Fan feh s, Q) wei R T ) TE R s,

Assertion (A):  SIFEEYEHAT TS iershey GHTHT 2.

Reason (R) : HATE ANENE ST ATeF AU ed 7 Sied] TEpETIes B, 9 9 Hal.
1 g frerTen snur s 1@ et

(1) (A) 37O (R) SRR 318 (R) & (A) 9 =g TqE0 3.
(2) (A) 5710 (R) sUat 318, 11 (R) & (A) T 177 wadietor T3]

3 (A TR, T R) TF 0.

@ (A TF, 7@ R) TR 3w,

[Question ID = 1894][Question Description = Q89_38Marathi set1_A]
1. 1 [Option ID = 7573]
2. 2 [Option ID = 7574]
3. 3 [Option ID = 7575]
4, 4 [Option ID = 7576]

Correct Answer :-
a 1 [Option ID = 7573]
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90)
IS o faum faeelt st

Statement (I): TS SRATHE WK § & gaita Tfeaid 312

Statement (II) : ‘ww werd fownfes oga, af ara siow waee @, i o,
TTFTA ST S cam= Tl Teh1 et .

71 g Frgmren sneR e e e

(1) 2= oo st e,
2 = fun T e
(3  faum @) "R, /g fbFgm J0) 9% .

@)  faum Q) 5 enr, wg fam 1) SOt TR,

[Question ID = 1895][Question Description = Q90_38Marathi set1_A]
1. 1 [Option ID = 7577]
2. 2 [Option ID = 7578]
3. 3 [Option ID = 7579]
4, 4 [Option ID = 7580]

Correct Answer :-
a 1 [Option ID = 7577]

Topic:- 38Marathi set1_B

© AT ¢ TEIE SATETELTer TvaTe s for.
FTARTICA ST AT Had g e, ST, TGS Wifeacd Herhdiq ATt T T W e
W= TdH qeeia A, 3faa Hifeed Toasiql TEE S 3THH WEHio® ¢ a0 SETel oA
oS efoia GifgeTad FTEritavt ug sren sfi garsren siftmer wieien se el

31| AR 2 G RS E 0 o) B L e i e e 8o e ey oo

(1)  ardEad 2) digdad

3)  =mifm (4) TR

[Question ID = 1896][Question Description = Q91_38Marathi set1_B]
1. 1 [Optien ID = 7581]
2. 2 [Optien ID = 7582]
3. 3 [Option ID = 7583]
4. 4 [Option ID = 7584]

Correct Answer -
e 1 [Option ID = 7581]

TOAT ¢ TE ST=TEer Uyt Wt

FIATE WieAaTIH SIS il 2id 31T A&Sl AT el Ad ATEl, ANTHIAS SHaeR ST T e
SISV AT Had g e, STd. Ml Wifecd Herhdiq ATt T T W e
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S - ARLIL LY.

TS SHaeaagn S0 < wafayd T T1d BT 3R ¢

(1)  —REFEHaE! (2) TAFAEF
(3) EgreESh (4) T

[Question ID = 1897][Question Description = Q92_38Marathi set1_B]
1. 1 [Option ID = 7585]
2. 2 [Option ID = 7586]
3. 3 [Option ID = 7587]
4, 4 [Option ID = 7588]

Correct Answer :-
« 1 [Dption ID = 7585]

Y AT : E ser=ETEder wyre s forgr
SAATAeA e AT WA g el Sd. dRedered) aifdea werrpdigs Aol S Thed #1 aRAl
witear Tl sgea oA, 2 Tifeer Swastiqy T el oFE ainElaw S Faw SETal o
THEETA] T Toedl. AT WMl SIoitg eadl, A AEEh WAW WE T el HRi oed. T AT

1) wmEE Q) T

(3) s @) Fragaeh

[Question ID = 1898][Question Description = Q93_38Marathi set1_B]
1. 1 [Option ID = 7589]
2. 2 [Option ID = 75%0]
3. 3 [Option ID = 7591]
4. 4 [Option ID = 7592]

Carrect Answer :-
a 1 [Option ID = 7589]

TOAT ¢ TE STTE e Uyt W feg.

FIATE AieATTIH TSISS Fidl 2id 3T A&Sl AT el A9 ATel, AVTHIGS SFaer T e
FTARICA ET AT Had g e, ST, MHEEITST Wifecd werhdiq ATt T T e
T TdH qeaa A, 3foa Wi Toasiq] A Sl 3TH WEHio ¢ a0 SEel oAl
USRI T AoEdl, el g Smolte Aogdl, e A5k WiN0r W g 2l o Aowd. A WAt

(1) o Q) frerEe
(3) HEFENE @) wEEE

[Question ID = 1899][Question Description = Q94_38Marathi set1_B]
1. 1 [Option ID = 7593]
2. 2 [Option ID = 7594)]
3. 3 [Option ID = 7595]
4, 4 [Option ID = 7596]

Correct Answer :-
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| ® 1 [Option ID = 7593]

FTARICA ST AT Had gy e, ST, TGSl Wifecd Herhdiq WOt T T W e
IATST gfetd HifEeaTgd FIEEie! 4 v i garsean st ufeden qea el

TR 2fed TriEea 2 sAfana: sawere fug o ?

(1)  UFamEhE grE=Te TR (2) TAAFRRERE]
3 wfivs 4) e

[Question ID = 1900][Question Description = Q95_38Marathi set1_B]
1. 1 [Optien ID = 7597]

2. 2 [Option ID = 7598]

3. 3 [Option ID = 7599]

4. 4 [Option ID = 7600]

Correct Answer ;-

e« 1 [Option ID = 75%97]

Topic:- 38Marathi set1_C

1)

AT + TEIET TATTEeT Wyt S .
Terhi wae 3 TRd i auemade =i afoEmn TeRrEEE aaee e @ it meen TR,
Zifieren A et @gre oten ot & A YR TeRraEdt Seen #el wdt ven e R 3t T
Tehd, BN, THER AYH 9 U2 Ao B fFER 9 yewra wien wf arw wua vedd. favs
FrATZAH T-T59 FEUE A0 ARSI, JEFE FIS TIRVAEEG SO Fiod HeY, FearEeerea
ATETH Tt BT AT e e, dureh SIS Sl SaATeal [Nl wedl, Thed
FE SR T, JEITeA GHETE HEET e drmin S, AgHe Tiidie guarl, T

Haeasea Fibdre sfie =[ ?

(1) AT a0 (2)  wurem St gu ol

(3) T eimtamEt A o (4) B Hiutaarg e w0

[Question ID = 1906][Question Description = Q96_38Marathi set1_C]

1.1

[Option ID = 7621]
2. 2

[Option ID = 7622)
3 3

[Option ID = 7623]
4. 4

[Option ID = 7624]
Correct Answer :-
a 1

[Option ID = 7621]

Rt Ioae 3w Ted ol ISR T ST AR T e @ e W,
TR T TY TN o M YRR TERTAEES SIS FE1 Bt S T TR 3 T
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R, ETEIRIY, TAFGL AYEH 9 98 WA= At FER 3 T9Ed Hiel | 3 F9d Yeal. EY96
AR Hadidl g v fieres amed, duleh s ®f S e seddn, e
e AP WeITd, JEITA GHIS AN e de SEe, 3EEE Uelidie gegard, wheia
TETAT | o TeATE] FHS gl Sl Uk ame 3nfin scafegeny Iq .

Hier HTHEA Bive T fEmed snufia s e

(1) =t o (2) wipe Fepaae TEoTh
(3)  =efauasge s (4) EieEd IHFT AR
[Question ID = 1907][Question Description = Q97_38Marathi set1_C]
1. 1
[Option ID = 7625]
Zid
[Option ID = 7626]
L (I

[Option ID = 7627]
4, 4

[Option ID = 7628]
Correct Answer :-

s

[Option ID = 7625]

Rl Ioae 3 Ted ol USRS S ST TR T oo W g mee T,
THd T TY A ST @ M YRR TERTAEES SISl FEl Nt U T TR 3 T
TRd, TS, TG AMTSE 9 92 TEETA B FER I TEWE Hien & 6w w9 Yoot s
HWIgH EadiEt gem v Hewe gmed, duris e | e fdereen ser, e
e AP WeITE, GRS GHIS AN e drei Se, 3TEHE Uelidie gegar, wheia

AT F6 ST HIHharea HeaTd |eAT TG 071 9IS SR 81 7

(1)  ufErEl (2) TR
(8)  gHSgearH) (4) forwash
[Question ID = 1908][Question Description = Q98_38Marathi set1_C]
1. 1
[Option ID = 7629]
Z.2
[Option ID = 7630]
3 03
[Option ID = 7631]
4. 4

[Option ID = 7632)

Correct Answer :-

L

[Option ID = 7629]

AT : TEITT AT Wyt S o

i wae 3 TRd i aueTrde =i afoEn TeRrEEEl aae e @ i meen T,
i a Tt @re oren ot & W Y TeRradt deen #el wdt vey e TR 3t g
Tehd, BN, TG AYTA 9 U2 Ao S fGER 9 yewra wien B arw v veedt. e
FrATGAH T-T59 FEUE A AHSTUN, JEAH FIS IIRVAEEG SO Fiod ey, FearEeErea

!
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YA SOOI HiEq SUGVHIY HOOEeT HiHed, 9IRS HEHIT S 2=y 1HOIrdl e, YR
FE TR T, JEIreA GHET HEET e drmin SEe, AgHe Tidel guarl, T

HEhreA HgtAH1 HIvAT TeF Al Weweren 36 ¢

(1)  FeaacEem (2) e
(3) M @) ot T
[Question ID = 1909][Question Description = Q99_38Marathi set1_C]
i |
[Option ID = 7633]
FAR
[Option ID = 7634]
3.3

[Option ID = 7635]
4, 4

[Option ID = 7636]
Correct Answer :-
s 1

[Option ID = 7633)

AT : TEIOT AT WAt 3w v
Rl Ioae 3 Ted ol USRS S S AR T oA A e T,
TR T TY AT ST R M YR TERTAEES S FEl Bt S T TR 3 T
TR, T, TIFGE AN 9 I TEa-SA B SR 71 YamE Hien wt 3w w6 Yo, o
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